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This Question Paper consists of 20 questions and 11 printed pages.

Roll No. cote No. 52/ AS /4
Set| A

ENGLISH
(202)

Day and Date of Examination

Signature of Invigilators 1.

General Instructions :

1.  Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

3.  For the objective type of questions, you have to choose any one of the four alternatives given
in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book
given to you. In the case of fill in the blanks, the correct/ appropriate answers should be

written in the answer-book.

4.  All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

5.  Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

6.  Write your Question Paper code No. 52/ AS/4-A on the Answer-Book.
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ENGLISH
SET - A
(202)

Time : 3 Hours | [ Maximum Marks : 100

Note : (i)  This question paper has four sections : A, B, C and D.
(i) Allthe questions are compulsory except those where internal choice is given.

(iii) All the answers have to be written in the answer script provided. (in all the

sets)
SECTION - A : (Reading)
(Marks : 15)
1.  Read the following passage carefully and answer the questions that follow : 8

The environment is something that we are all familiar with. It includes the air
that surrounds the earth, the water that covers most part of the earth, the plants and
animals around us and much more.

The responsibility of protecting the natural environment lies on individuals as
well as various organisations. Environment is affected by various human activities.
For example, waste production, air pollution, polluting water resources, damaging
natural vegetation are some of the issues that affect the environment.

Environment protection depends on two interrelated factors : legislative provisions
and individual interest. Each plays its part in protecting the environment by developing
environmental values at individual level as well as at the national level. Discussions
concerning protection of environment often focus on the role of the government for
legislation and law enforcement. Every government passes laws to prevent damage to
the environment. Truly speaking, protecting the environment is the responsibility of
each individual and all people and not simply of the government. Most of the damages
to environmental resources are not limited within individual countries and occur across
their boundaries covering several countries or even across the globe. That is why attempts
are made by the countries to develop agreements among multiple governments to prevent
damage to the environment or manage the impact of human activities on natural
resources. They include factors that affect climate, oceans, rivers and air. While some
of the agreements are legally binding on nations, most of them are in the nature of
voluntary responsibility or moral code of conduct.
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Answer the questions given below on the basis of your understanding of the passage.
Choose the best options wherever given :
(i) Complete the following sentence : 1
The air, water and vegetation around us make
(i) What can make individuals concerned about environment ? 1
(A) lessons on environment
(B) strict application of law
(C) development of environmental values
(D) discussions on environment
(iii) Who is responsible for protection of environment ? 1
(A) individuals
(B) group of individuals
(C) law makers

(D) individuals as well as the government

(iv) Pick out the words from the passage which means similar to : 2
(A) material
(B) effect

(v) Mention two human activities that pollute the environment.

(vi) What is done, when damage to environment is not limited within one country ?

2. Read the following passage carefully and answer the questions given below : 7

The mangrove forest of Sundarban is spread over the delta region in the southern
part of West Bengal. The mangrove forest is the habitat of Royal Bengal Tigers. The
tigers of Sundarban are known for their man eating behaviour. They often stray from
the reserved forest into the human habitation along the fringes of Sundarban forest
and prey on cattle and human beings.

People living in the vicinity of the forest are heavily dependent on the forest for
their livelihood. All types of resource collectors from the villages enter the core area of
the forest for collecting honey, firewood and for fishing. The high level of disturbance
by forest resource users provokes man eating behaviour of the tigers and they often kill
the intruders into the forests. The villagers too kill stray tigers in revenge. As a result,
there is a long-standing conflict between man and animal.

Survival of the tiger population depends upon the resolution of the age-old
human-tiger conflict and conservation of the mangrove forest where the tigers live.
Primarily, the villagers are to be kept out of the habitat of the tigers. Since poverty is
the most dominant factor which forces villagers to enter the core area for collection of
natural resources, there is urgent need to create alternative livelihood for fringe dwellers.

@
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In order to prevent straying of tigers into villages, nylon net as well as goran chita
fencing are erected along the forest - village interface. Straying animals are to be
tranquilised, captured and then released into the forests. Above all, people living in
the fringe are to be made aware of the need of conservation of tigers of Sundarban.

Answer the questions given below on the basis of your understanding of the above
passage. Choose the best options wherever given.

(i) Complete the following statement : 1
The mangrove forest of Sundarban is

(i) What is unique in the nature of the tigers of Sundarban ? 1
(A) their ferocity
(B) their closeness to human beings
(C) their man eating behaviour
(D) their ability to swim

(iii) Why do the people living near the forest enter its core area ? 1
(A) to capture living tigers
(B) to kill tigers for their skin
(C) to protect the tiger population

(D) to collect natural resources

(iv) Pick out the word from the passage, which is similar to the following word in 1
meaning :
home

(v) What is to be primarily done for the conservation of the mangrove forests of 1

Sundarban ?

(vi) What has been done to prevent the tigers from entering the human habitation 2
near the forest ?
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SECTION - B (Writing)
(Marks : 25)
3.  Read the following telephone conversation : 4
Caller : I am Joseph calling from Dr. Sukla’s hospital. Can I speak to Mrs. Sukla ?

Veena :  Mrs. Sukla is not at home. I am Veena, Dr. Sukla’s daughter. Any message
for Mrs. Sukla ?

Joseph :  Dr. Sukla is engaged in an emergency operation. He will stay overnight in
the hospital. Please inform Mrs. Sukla of it.

Veena : I will.

Veena will not be at home, when Mrs. Sukla returns. Write a message to be left for her.
Mention the date and the time of the receipt of the message.

4. Imagine you are Ranvir, a news reporter, living in Ganganagar colony. The 7
residents of Ganganagar colony moved to stop the use of plastic bags. An awareness
programme was organised to highlight the ill-effects of using plastic bags. The shoppers
as well as the shopkeepers attended the programme and offered to give up using plastic
bags. You attended the programme, as a news reporter.

Write a report on it in about 100 words. Highlight the efforts of the residents.
Mention the place and the date of the event and give a suitable title to your report.

5.  You are Rajesh living in Patna, Bihar. You have been selected for the junior national 7
level team of Kabaddi and you are required to go to Delhi for training for three weeks
before the competition. Write a letter to your father who is away on a business tour to
Bombay, informing him of your selection and stay in Delhi for training. Do not forget
to enquire about the well-being of your father.

6.  Given below are three situations. Choose anyone of them and write a paragraph on it 7
in about 100 words.

(a) Mobile phones have come to be an easy means of communication. Yet using
phones poses several problems. Highlight the problems associated with using
mobile phones.

(b)  Much of the open land in the cities has been used in raising high rise buildings.
Highlight its impact on life in the cities.

() Many of the television programmes are not suitable for family entertainment.
Suggest measures to regulate the production and viewing of such programmes.
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SECTION - C (Grammar)
(Marks : 30)
7. (a) Read the following paragraph : 3

We painted our house in the summer vacation. They washed the exterior
of the house with water and sealed all cracks and pores. Then they applied two
coats of paint for a good finish.

Rewrite the paragraph by filling the blank spaces. The first sentence of the
paragraph is done for you as an example.

Our house was painted in the last vacation. The exterior of the house __(i)  with
water and all cracks and pores (i) . Then two coats of paint  (iii)  fora
good finish.

(b) Rewrite the following pairs of sentences as a one sentence. Use the appropriate 3
words from the box.

[ after, before, although, lest, because ]
(There are more words than you may need)
Example :
(a) He works hard.
(b) He does not earn much.
Although he works hard, he does not earn much.
(i) (a) She had worked hard.

(b)  She came first in the class.
(i) (a) You must work hard.

(b) Otherwise you may fail in the examination.
(i) (a) The party had started.

(b) I reached late.
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8.  Read the following passage. There are some numbered blanks in it. For each blank 6
four options have been provided.

Choose the most appropriate ones to fill in the blanks. The first sentence has been done
as an example.

For (i) many people leisure is a time to idle (ii) . But (iii) people
make good use of it. Those who are fond (iv) reading utilise the time in
reading books of (v) choice. There are people (vi) take up
some creative activities or engage (vii) in creative writing.
Eg. (i) (A) many (B) few (©) all (D) a few

(i) (A) out (B) away (C) at (D) on

(iii) (A) many (B) few (©) all (D) some

iv) (A) of (B) in (C) with (D) at

(v) (A) his (B) their (C) theirs (D) our

(vi) (A) who (B) which (C) that (D) whose

(vii) (A) him (B) himself (C) them (D) themselves

9.  Given below is a conversation between two friends on visiting the trade fair. Complete 3

the dialogue with suitable words.

Rohit : I want to go to the trade fair (i) come with me.

Rajesh : I can (ii) you want to go to the fair ?

Rohit : We may go tomorrow.

Rajesh : I have some work tomorrow (iii) ___ we will go the day after
tomorrow.

Rohit : Ok, we shall go the day after tomorrow.
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10. Complete the following paragraph by filling in the blanks with suitable form of the 6
verbs given in brackets.

Shimla (i) (be) a beautiful hill station. My uncle (ii)
(live) there. Last month he (iii) (invite) me to spend my summer vacation
in Shimla. I (v) . (take) the train to Kalka. From Kalka the train
(v) (move) very slowly. My uncle (vi) (receive) me at the
station.

11. Complete the following dialogue by filling in the blanks with suitable words : 3

The first one has been done for you as an example.

Father :  Son, what would you like to do after the examination ?
Son : I (i) spend some time with my friends.
Father :  But you (ii) prepare for admission to a college.
You (iii) not waste any time.
12. The following is a conversation between Rajesh and Robin on the latter’s not having 6
job.

Rajesh :  Hi, Robin. How are you ?
Robin:  Not too well. I do not have a job.

Rajesh : ~ What kind of a job are you looking for ?

Robin : I am interested in a marketing job.

Rajesh :  Are you ready to work in villages ?

Robin: I am ready to work anywhere in India.

Rajesh greeted Robin and asked him (i) . Robin said in reply that he was
not too well and added (ii) not have a job. Rajesh asked him what kind of
a job he (iii) for. Robin said (iv) interested in a marketing job.

Rajesh asked in reply (v) ___ ready to go to the villages, Robin said
(vi) ready to work anywhere in India.

AT ERRATAVRUTAWAN © conta..
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SECTION - D (Literature)
(Marks : 30)

13. Read the stanza given below and answer the questions that follow : 1x4=4
Weavers, weaving at break of day,
Why do you weave a garment so gay ?
Blue as the wing of halcyon wild,
We weave the robes of a new-born child.

(Indian Weavers)

Q
~

What is the time of the day meant by ‘break of day’ ?

(
(b) What are the weavers weaving ?
() How do the time of the day and the birth of a child match ?
(d) Pick out the word which indicates the mood of the occasion.
14. Answer the following questions in one or two sentences each. 2x2=4

(a) What, according to the child, is buried under the veil of dust ?
(My Only Cry)
(b) What made the eight runners suddenly stop ?

(Nine Gold Medals)
15. Complete the following sentences by choosing the best options : 1x2=2
(@) They used to laugh with their hearts, means :
(Once Upon A Time)
(A) They enjoyed laughing loudly.
(B) They used to laugh with true feelings.
(C) Their hearts beat, when they laughed.
(D) They were happy and playful in nature.
(b) But words can mortify me, means :
(Truth)
(A) Words can hurt me deeply.
(B) Words can humiliate me.
(C) Words remain in my memory.
(D) Words touch my mind.
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16. Read the following passage and answer the questions that follow : 1x4=4

We have 10 percent growth rate in most areas. Our poverty level is falling. Our
achievements are being globally recognised. Yet we lack the self confidence to see
ourselves as a developed nation, self reliant and self assured. Isn’t this incorrect ? My
second vision for India is development. For fifty years, we have been a developing
nation. It is time we see ourselves as a developed nation.

(My Vision for India)
(@) Who is the speaker of this extract ?
(b) Mention the facts that support India as a developed nation.
()  Why couldn’t we think ourselves to be a developed nation ?

(d) What is required for India to be globally recognised ?

17. Read the following passage and answer the questions that follow : 1x4=4

Despite the fame that he got, Bismillah Khan always remained simple. He never
accumulated wealth and other material possessions. He lived in humble surrounding
in the holy city of Varanasi. His favourite mode of transport was the cycle rickshaw.
He monopolised Shehnai recitals in the post-independence era and through them, kept
alive the legacy of classical music.

(Ustad Bismillah Khan)
a) What was Bismillah Khan ?
b)  What shows that he lived a simple life ?
c)  What is his contribution to the world of music ?

d) Give the meaning of the word “monopolised’.

18. Complete the following statements by choosing the most appropriate options given
below : 1x3=3

(a) Raja could not say that no snake had bitten him because :
(The Snake Bite)
i)  Grandfather did not allow him to speak.
ii) The medicine man was reciting mantras.
iii) The medicine man would not believe him.

iv) He was in severe pain.
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(b) Bhagya decided to give up the job of working in an apartment of Lakshmi
because :

(Caring For Others)

(i) Bhagya could not take more work.
(i) Lakshmi needed the job more.
(i) Bhagya wanted to study in the afternoon.
(iv) Bhagya was required to work in the school in the afternoon.
(c) Gandhiji went to Ramji’s Mandir because :

(Stealing and Atonement)
i)  He wanted to pray to the deity
ii) He wanted to make an offering

iii) He wanted to compose himself

iv) He wanted to confess his fault before the deity

19. Answer any two of the following questions in about 30-40 words each : 2x2=4

(@) Why did the head of the shoeshine’s union agree to provide the storyteller the
chance to join the group as a shoeshine ?

(The Shoeshine)
(b) What did Jijabai do when she received the so called news of Shivaji's death ?

() What made Kezia’s father angry with her ? What lesson did he want to teach
her by punishing her ?

20. Answer any one of the following questions in about 100 words : 5

(a) Why do the villagers call the ‘Neem’ tree their village pharmacy ? How did
grandfather justify it ?

(b) What was the tiger’s view about the human beings ? How did it change ?

-00o0-
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839 & €37 yAsx fe g fSftmm A< |

4. FI YRS U3I st feg wigmafes afeu yas <t 95 foa A wigha It 5@98 96
faBfx 9 »imd AHT &dt fe3T Aredr |

5. Jot 9t fors A7 3% 99 €39 yA3a © faR & 741 3 odt da grdier, adt 3 fefenragt
3 ydtfan 3 9799 9 fe'3T Aear |

6. €33 UF3d 3 yFs yAsy ©F 99 52/S/A/P-AwI3 fad
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PUNJABI
(UAEd)
(210)

Time : 3 Hours | [ Maximum Marks : 100
AHT @ 3 uie ] [ g% »ix: 100

-

a2 : (1) A9 yms' ¥ 839 Agdt I8 ¢
(2) A9 YEs g firs 3% ug »i3 Bt © 839 fau ¢

1. Jo fou 49 § ug 3 8F Audt 93 ymst ¥ €39 fa¥ 2x4=8

“Hag T A9 oA fee ug fou fenfadt & mg 3 ufodt use feg I 91 fa &9

6T MRt w3-gT 39 =UT daft 397, AW II AaeT II fAde 393 o fEa wwr Tw I

AT I A &7, Ug wiaigdt g § 89 Jaft 39T Aeer =91 HAW ¥ J96T on <9 Jar

Ifge-rfae =% w3 wfgnwmaga fomadt 87 & mifen A JI
f € w3 I8 »muet g it YRS T AAfd 9° w3 fan § oot wr =

Sn &t g T I91 3= i de I5| AH-AH AT Bast It fagght gee=t yams I

It I51 I93 feu wigdt erdt I, 68 Sorsg 99 wa & A= WIT AHTs wirufed

J=ar, Ug wryet H3-gmar & 9t yrsd 7 ufgar faurdt &t 2<aft feg Wit o3 g<

farft fefsoma yafafonr e sdtar 3, u9 feg 9t o3 &, 7ot vt o3 31 fem =

AS MU »y mny At wigEt S8 i3 w3 wignd Has = fonm gya wifaag &t

YRS :

() 3393 9 Uz four foradht T w3-gmr 77 »iaodt &3 ot Heg 922

(i) WAT T gt on &9 Afona feniadt fam 397 © s AT I672

(iii) fam fefsgma wafen® &= Haz I, fom U9 f&9)

(iv) W& fam 915 T foum ayg wifuag &7

2. o foir yEst @ A feomu TE Ds=ts

() Ut feg fdghr Hsa=t 952
(A) & (B) 3T
(C) =H (D) fapurar
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(i) I fou wee &9 fagg vt G2

- o)

(A) =93 (B) wJ3 © =J3 (D) =3
(iii) Urret 1S9 {8 @9 g5 ¢

(A) ¥ B) € ©) fea (D) f3s
(iv) I fou muet &9 fagg femsdt f&ar 92

(A) F=t (B) & (©) frmsdt (D) w=t
(v) ot e fersdt f&ar I ¢

(A) F=Mis (B) d=hdTet (C) F=H3dt (D) afe3dt
(vi) fa2 W3 T 9g-=9s W3 J few 39 fagzr sg-=9s At &t -

(A) T (B) W37 © F=F= (D) W
(vii) fermeE wee fam &3 8T J

(A) @nd &% (B) WU &S (C) 3= (D) far 3% &t

(vii) U&= fam & Ifde I :

A) # wee fan et 7 @Az &t foest ©F A
1 7T fan "3y T 9 °A< J5|

C) + wWue e o g 3 =33 IR

D) A HIE € 77 € 3 20 »iyd™ 3 fHed 93|

>

(A) wET € »idg fI9 geg= & e

(B) wWI=' € widg fI9 gs=g< WEEr JI

(C) f&a 3= A9Ex WeE g JI
D) wue' € wEg 39 g9 &t Uer
(x) Io fou feasrt fegd 7 wee 9|

(A) #E (B) wE © #wy (D) "¥

(xi) foag wee = At AHSOEE HYE 9|

-

(A) "' (B) fogmsT (C) fegzr (D) fegdt
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(xii) I3 & afge I ‘“vHIe” H, ST HEE T A feasy 9

- )

(A) »He®  (B) €I (C) nfudr (D) M3
(xiii) FISt fou Ift I few == T wft fafowr fagdt T
(A) wJafed fIfgmr (B) HIIHA fafgmr
(C) WIIHS Tfa (D) u3T &S
(xiv) Ta=s mwEer At feddt mew 9
(A) Ts" (B) niHig (C) fagus (D) H&ET
(xv) Wt Jar = dar mew J1 fen = f&9 fenme wue fagzr 9 -
(A) wt (B) Uar (C) T (D) WeE
3. Jo f8U nue Ho=efont § yIr &q: 1x5=5
() I8 foma
(i) I det
(i) e & e
(iv) »mt fiFt I
(v) Bg-uHisT
4. Jo fou =937 5 feraH 93 &6 3

“foed A9 °F &9 I fen § Jaor a=s yus Hadt &t fivedt st 91 Har A <t
&9 fgpe99 9w Uug 3 der J1 fen § g g wadw & vt 917

5. J& 5y gg-nidea maet S we-we e-e nfid g se ik T I cundg ruRe T AE;. . 2
€39, 13

6. Jo feu fefimrt o9 fan fe'a fei 83 anar 250 Fae! T Ieyds &y &y . 10
() FH T HISS
(i) Hfeofm € WF - g Yt gad
(i) =gt HiJaret & A
(iv) HJ i=s = G|
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10.

11.

12.

& Higg € 3939 fegar € wend § M fesd € 3t & wiearfost & mafes
et foq U39 59|

Hr
33 Afgg © 397 g9 39 T -TFT € BT 7%, T-UdT TI6 I8 I UTS
TS TS § 993 HHAS e ™ J61 s © ufen vt § i3 gw9™ fe9 <8 T9s'
T TYS 3 YIs 99 I8 B fiq U39 fod|

“ #Ar fiwt 3 gJafr S8 FoHIHE Har © »i3 T Ty fa< udde ST J7 67 3§
100 - 125 muet fog fou|
a
Y : TBI9H 973 ‘fears Ass Ffegr g afder J |
“mg I W3t HeEg, =@F J9 ez ¥ wiwdl
F3T I foa3ed, HS HIg3<™ Ugadd!”
<t Qudas Jardte feg fadt fesdt fegr J1 100 - 125 moet fe'g faurs a9

I . TN 9 feme St FUt §H dSded I M ysat § ot Sfmrt J1
878 100 - 125 ot &9 fors 3|

feamat ‘gt s € U39 Aede® € UT3d fg3de 100 - 125 Age’ feg oy |

yrsa gue &9 dfued ot morfesT gger 1 €739 100 - 125 muet o9 fou |

J5 fsu ymrst © €39 fea-fea o= feu fod | g9 f&'s Adt €39 = f&x nix J1 12
() 9 gdie T ‘vag sdw I At g= JI
(i) »rfe g 3@ Aige fe9 g9 edle #f © fIs wéa =9 Ta|

(i) Yo I FIHAIZ U39 wigAg ‘fHaeT & 39 eEs” YA § a9 St
(iv) ot »i % A9 faan T8 dhiseg Ia|

v) ‘‘FZ"” ggt fI9 AT T A=t & W3 fag I

(

(

(

vi) o 3073 fega doff ARET Hed safon § UH J9emt Ia|
vii) 99 a6d €< At & w3+t = &t a7 A
vii) B4 7 : g9y fiw iz 3t »igAg dedsT fan o9 & e J1
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(ix) H : I3 fifw #1 & wmyS Hos € g9 ot querfenr Jfenr
(x) W a9 &g fam oH st orrfen H

(xi) dUGeT wWar v & fagdt met § o3 famrm I

(xii) H&AT & Hed T § IAsT foe JT ot mirfm Ht

13. Jo fou e © €39 30-40 Haet €9 f&y 6x2=12

() FI3 U39 3 ‘‘Baa” dfesT &9 off Aew fo3m JI

(i) = ‘AP & afesT fEA-&F 33 9 ot wmuE UG § e Safhert =9-
Tg fedt-fadt a5 =t ot 3fle a9 I ws|

(i) AIET & ‘B fomew § a8 ' fosr /M, 7= ot §9 At aH 9= Hi

(iv) < IA93 HIHE Wig" § JI9 =B gt €39« Ht 37 dadfens I 7 Al OF
A B3t & »aH T B de AgesT daer H 3 fa=|

v) f8g =3 7 fan »logw 3 foes »ifla-8-fos & Ufenr fa 3073 vorgw & faost
iy TR T2 3 wita-O-fes 3 ft €739 fozr Hi?

(vi) W : 393 fiw €3 fan € feso' = U9 yg= A2

14. Jo fou ymst © 839 audr 50 maet feg fou - 2x3=6
G ‘T e 3 gz S T vey &9 o vt 992
(i) “‘HIIr Foe R ST AT T IIEETT 9 A off AeEhdT 952 ot feg e
3T T2
-00o0-
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This Question Paper consists of 36 questions including 4 figures and 11 printed pages + Graph sheet.
T Y- H 36 WY a2 4 Fo U 11 Ufgd U + Uk vite ¥ |

Roll N.o. COi;;;: 52/ AS/4

3IchAlh

MATHEMATICS Set| A
( TIfUTe )
(211)

Day and Date of Examination

el &t foq 9 foia

Signature of Invigilators 1.

Trerent o g&aTar

General Instructions :

1.
2.

52/AS/4-211-A |

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given
in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book
given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 52/ AS/4-A on the Answer-Book.
(@) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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W 3T

1.

2.

52/AS/4-211-A |

Thenefl T9TA % Rl IS W STUAT ST IS 31w ford |

FUIT IS I W o R T F F Yot a° T bl SaHl & He § A gud I % ged
IR U T 139 91w S o I oA o 7 wiAw w9 H €

ST Ue § SRl IR faswed (A), (B), (C) @ (D) ¥ | @i Wah SW g1 € 9 & T8
SR ¥ 319 92 S| fafau |

TS TS & WY-Tg Gl gl o I ifRa oTafy Ffa & < T | I ueHl o fore etem
Y Try el fea S |

IW-qfedert H qgaH-fag oaam Ao ffde wrl & sifafted w2l ot stgshdier forem o adaneff
1 ST A ST |

ST IT-GRsh! W JeT9= &t hie den 52/ AS/4-A fog |

(F) !;ﬂﬂ?{ﬁﬁlﬁ%ﬁ/@?ﬁﬁ%l TRe o, =ife e =e ot < & S TRl Tk Ao H ST S Wehd
stirstt, &, <<, woeh, ovTen, affe, o, wee, I, NIST, Sfedl, TeRT, ik,
FU SR-Yrah B fou Tu St H ford for o1 fhm v 7 s form w@ €

(@) afe a9 &<t wd st o stfafted fordt o= v # SR forad € O 999 6l 9o | 29 ool

Ffedi/Tafal st SR hae STdeh! B8R |

N
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Time : 2%2 Hours |

T ; 2V, HUS ]

MATHEMATICS
(TIfuTa )
(211)

[ Maximum Marks : 85

[ quiish : 85

Instructions : (1)

52/AS/4-211-A |

Question Numbers (1 - 10) are Multiple Choice Questions. Each question
carries one mark. For each question, four alternative choices A, B, C and D
are provided, of which only one is correct. You have to select the correct
alternative and indicate it in the answer-book provided to you by writing
(A), (B), (C) or (D) as the case may be. Q. No. 11 to 15 also carry one mark
each.

Question Numbers (16 - 25) carry 2 marks each.
Question Numbers (26 - 33) carry 4 marks each.
Question Numbers (34 - 36) carry 6 marks each.

All questions are compulsory.

¥ HEAT (1 - 10) Tk agfashed! 99 (Multiple Choice Questions) R DER I
Teh 37 1 8 | &% I § =R fasheyq A, B, C a1 D fed M4 €, 5 9§ et &
T2 T | ATYeh HET faehed AT B A1 e W o S STOT IR Rkasht | (A), (B),
(C) 1% (D) STt ot Teurfat 1, foreet S €1 e e 11 9 15 +ff T 37
&

¥ GE&T (16 - 25) TF T U9 & 2 3 & |
I GE&AT (26 - 33) TF YA U & 4 3F |
I HEAT (34 - 36) T TAF T F 6 3k T |

[t g9 Sfear § 1
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1. Which of the following is not a rational number ? 1

frefafea 9 & &F 9T gen 76 2

2y 4
- %
(a) -5 (B) ( g] © 3 D) (3)%
2. If x=11is a zero of the polynomial f (x) =x>—>5x +k, then the value of k is : 1

G x=1 9IS f () =22 —5x +k I IYAH ¢, MK AA T :

(A) -6 (B) -4 ©) 4 (D) 6

3. HCEF of two numbers is 3 and their LCM is 21. If one number is 7, the other number 1
is:

T Hemsli H1 HH. 3% iR AF W, 2171 9w dem 7 T, @ qud Hen ¥

(A) 1 (B) 3 ) 7 (D) 9

4. 15% of a number is 270, the number is : 1

Teh T 1 15% Afg 270 ®, O G&AT ® -

(A) 1500 (B) 1800 (©) 2100 (D) 2700
5. In a plane the point equidistant from vertices of a triangle is called its : 1
(A) Centroid (B) Incentre
(C) Circumcentre (D) Orthocentre
T B e & <A1 sl & gogees fog weam €
(A) H=H (B) fa:%=
(C) ufeh= (D) waH=

=

AT RRATTADAIVTERWAW 1 conta...
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6.  Which of the following statements in not true ? 1
(A) all rectangles are squares
(B) rhombus is a parallelogram
(C) sum of interior angles of a quadrilateral is 360°

(D) square is a rhombus
Frafafad wedl 9§ | SA-W FHoF T T4 © 2

(A) Tt T o 2 €

(B) THEIHS T HIR IgYS a1 7 |
(C) =gy & 1= DIV 1 AT 360° Bl T |

(D) =t Tk TS B R |

7.  Number of tangents drawn to a circle from an external point is : 1

forelt sy forg 9 Weh g W Eii ST el Tast Yt #i g9emn ©

(A) 0 (B) 1
© 2 (D) 3
8.  One side of a parallelogram is 15 cm and its corresponding altitude is 5 cm. Area 1

(in cm?) of the parallelogram is :

TRl R Sqs 1 TH S 15 AL q1 Wd s 5 AL T T FHRR Fgys
A% (T AL H) T

(A) 75 (B) 37.5

(C) 20 (D) 10

a1

AT RRATTADAIVTERWAW 1 conta...
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9.  In the figure given below, AABC is right angled at B. Which of the following is true ? 1
o & emhfa §, AABC H &Iv1 B ggapur ¥ 1 Frafafed & @ e 9 €2

24 cm fﬁ"ﬂ

A Fem ,-"ﬁiﬁ_ B

25 7
1 C = — 1 C = —
(A) s 7 (B) s 5
24 7
1 C = — 1 C = —
(C) sin T (D) sin o
10. If sin (A +36°)=cos A, where (A +36°) is an acute angle, then value of A is : 1
A sin (A +36°) =cos A, S (A +36°) Tk = HI0 &, T A H TH T :
(A) b54° (B) 27° C) 2r1° (D) 18°
-2 -9 2x+1
11. If (ij + (Ej = (i] , Find the value of x. 1
13 3 13

afe ( 3 j_z - (Ej_g = (ETM, T x 1AM H1G HIFT |

13 3 13
12. Write 0.06 as a percent. 1
0.06 = 9faerd & &9 H fafEw)
13. In the figure given below, find x. 1
= < 3Tpf H x 1 W A1G i |

=)}

AT RRATTADAIVTERWAW 1 conta...
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14. In the figure given below, AB is the diameter of a circle with centre O. Find ZBDC. 1
= <t oTRfd H, AB T 99 &1 A9 § W % O W B £BDC 91 SHifS |

@i
1200
AkEE;ZéijB

D

15. Find the volume of a hemisphere of radius 21 cm. 1

21 9.1, 51 & 27t A1 37Fa J1d hifeid |

16. The first term and common difference of a A.P. are —5 and 4 respectively. Find the 2
sum of the first 40 terms of the A.P.

T THTR J& 1 JUH TS e GrEsT<l hAY: —5 34 €| 30 HIR 9E1 & 949 40 I
T 1 i |

17. A retailer buys a cooler for ¥ 3,800 and spends X 200 on its transport. If he sells the 2
cooler for X 4,400, determine his profit percent.

T Feaht foshdl T Fer ¥ 3,800 H Tiedr © 3R 38 oM & fa 3 200 7167 w1 & &9 H @
FHIA T IS T IH Hel FIT 4,400 H =T €, 1 ST A1 Ffawrd 1 hifad |

18. In the figure given below, if AP=x+1, BP=x+2, CP=x and DP=x +4, find the value 2
of x.

i <t orpfa H, afg AP=x+1, BP=x+2, CP=x 3R DP=x+4, A x 1 AF J1d Hife |

A
D

AT RRATTADAIVTERWAW 1 conta...
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19. In a AABC, AB=AC and AD is the altitude from A to BC. Prove that BD=DC. 2

T s ABC ®, AB=AC 91 AD, A ¥ BC R el T ¥ o9 ¥1 fag sifse fh
BD=DC.

20. Find the co-ordinates of the point which divides the line segment joining the points 2
(—2,3) and (5, —6) in the ratio 2 : 1 internally.

T T fag & fceie 9 wifse st fagsll (-2, 3) 3R (5, —6) F1 foam ol W@Ee &
2:1% o U | fawfea < g1

21. Find the perimeter and area of the sector of a circle of radius 14 cm and central angle 2
30°.

T T Feage &1 uim iR aea 9 sifee St 14 .. oo & g9 # o gen ® oI

SRt g I= hI01 30° § |

22. Prove that: 2

g whife fon

cos*A —sin*A =1 —2sin2A.

23. Evaluate : 2

M J1d HIT

tan7°. tan23°. tan67°. tan83° — sec245°

24. If the data 50, 42, 35, 2x +10, 2x, 18, 12, 11 is written in descending order of magnitude 2
and its median is 25, find the value of x.

afg SRS 50, 42, 35, 2x+10, 2x, 18, 12, 11 3T %9 | for@ gu ¥ iR a1 Weas
25 %, @ x 1 TH 1A hifoTT |

AT RRATTADAIVTERWAW 1 conta...
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25.

26.

27.

52/AS/4-211-A |

Construct a frequency distribution table from the following data :

cumulative
Xi

frequency
0-10 3
10 - 20 15
20-30 51
30-40 127
40 - 50 224

frfafaa el ¥ Tk SRARAT sied TR it AT HIfS

Xi GerEt SRERAT
0-10 3
10-20 15
20-30 51
30-40 127
40 -50 224

Solve the following system of linear equations graphically.
frefefaa Wae Tt e 1 sterea fafy § g it
x—y=7, x+y=>

OR/319raT
(For visually impaired learners only)

(Shaet gite faerenn faenfiar & fom)

Solve the following system of linear equations.

fr=fafaa e aHeRtor e ol g hifse :
x—2y=7, 3x+y=35

Simplify the following into the lowest form: :

frfafea =l =aam ®9 5 Wa i :
x2+x+1; -1
x2 -9 x? —4x +3

]
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28.

29.

30.

31.

32.

A washing machine is available for ¥ 15000 cash or ¥ 2250 cash down payment followed
by two equal half yearly instalments. If the interest charged under this instalment plan
is 8% per annum compounded half yearly, find the amount of each instalment.

T HIS € F A T 15000 e FTAH 312ra T 2250 TRA T iR T8 91 &1 g9M
refenfier foredi § SucTsd §1 Ifc 30 fored i1 & 3T=qiid foTT ST ot =3Tst ki <X 8% anftieh
3R = wfa SHE A 8 §, @ g fohva i uf¥n 9 i

ABC is an acute angled triangle. If ADLBC, prove that AB>= AC?+BC?—2BC.DC.
ABC T& =& fA3s1 €1 e ADLBC, @ f&s ST ff AB2= AC2+BC2-2BC.DC.

Construct a AABC, in which BC=4 cm, ZB=60° and AB—AC=1.2 cm
T AABC &l T&A1 HifSg S&H BC=4 §.H#1. £/B=60° 3R AB— AC=1.2 9.H.
OR/3TeraT
(For Visually Impaired learners only)
( e gtz famretin Faremfoiai 3 Fomy)

Write the steps of construction to construct a pair of tangents to a circle of radius 3 cm
from a point P outside the circle at a distance of 6 cm from the centre O of the circle.

39.H. 5500 o 99 W, I o e I35k ks foig O W 6 WA o1 g R feerd forg P, < oo
@il i A1 & fore, T & ug fafau |

The angle of elevation of the top of a building from the foot of a tower is 30° and the
angle of elevation of the top of the tower from the foot of the building is 60°. If the
tower is 150 m high, find the height of the building.

Tk R & U1€ W Teh Hoid & TIRER 1 o187 101 30° & 991 Wold & Ue § HHR o fIrer 1
FoITT B 60° & 1 Ffe HAR Bl F=mE 150 HieT §, 1 Ho i =1 J1d hITS(C |

Find the mean of the following data :

52/AS/4-211-A |

Class 150-160 | 160-170 | 170-180 | 180-190 | 190 - 200
Frequency 5 8 15 10 2
1 effenel <1 TTeA F1d HIFT
it 150-160 | 160-170 | 170-180 | 180-190 | 190 - 200
SREAT 5 8 15 10 2
10 IAREETRARRTEREINIARTN ¢ conta..




33.

34.

35.

36.

A bag contains cards which are numbered from 2 to 90. A card is drawn at random
from the bag. Find the probability that it bears :

(i) a two digit number

(i) a number which is a perfect square

Teh o7 H 1S € fS W2 ¥ 90 T Gt 3ifha €1 o | ¥ Tk 1 Argssdn el S €1
yiforehdl J1d Shifsie foh fehTet 7T h1e o

(i) < 3Rl = GE sifed g,
(i) T gl o G SR 7

A girl is twice as old as her sister. Four years hence, the product of their ages (in years)
will be 160; find their present ages.

Th TASH! Dl Y 7T 96 i 3T T AT € | =R I8 Y91 STeh! AT I OGS (6! )
160 BT 1 ST St ST 371 T hifeTT |

If two sides of a triangle are unequal, then prove that the longer side has the greater
angle opposite to it.

Ffg forgt Sy it &1 YT 31EEE §; @ fag Fifew fo o€t oo % 9= 1 i, S o &
A & 0 F IS a1 & |

External radius of a hollow right circular cyhndrlcal plpe is 9 Cm and its length is
14 cm. If the volume of the metal used to make the pipe is 748 cm?, find the thickness

22
of the metal. (’"’ = 7)

T del 19 SRR Wl UIgq i aTel 32 9 4. € 8 SHeh! o 14 4. €1 g
$9 U159 1 SN o T YR i T8 4T 1 TaA 748 o9 9., T, O 91 & AR 94

i = 7

-000-
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This Question Paper consists of 30 questions and 11 printed pages.
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SCIENCE AND TECHNOLOGY Set| A

( forT T WY )
(212)

Day and Date of Examination

el &t fo 9 foia
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General Instructions :
1.  Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

3.  For the objective type of questions, you have to choose any one of the four alternatives given
in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book
given to you.

4.  All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

5.  Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

6.  Write your Question Paper code No. 52/ AS/4-A on the Answer-Book.
(@) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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Thenefl T9TA % Rl IS W STUAT ST IS 31w ford |

FUIT IS I W o R T F F Yot a° T bl SaHl & He § A gud I % ged
IR U T 139 91w S o I oA o 7 wiAw w9 H €

TS T § o =GR faswedl (A), (B), (C) 91 (D) § | g Ueh SR T qo1 & T8
ST-YfEash! § &l S ot |

TS T & WY-Tg Tt Ul o I HiRa otafy Ffa & <7 T | I ueHl o fore eter
Y Tay el fean s |

IW-qfedert H qgaH-fag oA e ffde wrl & sifafted w2l ot stgshdier forem o adaneff
1 3T A S |

SO IT-GREdeh R Y9 i *ie demn 52/ AS/4-A fod |

(F) !;ﬂﬂ?{ﬁﬁlﬁ%ﬁ/@?ﬁﬁ%l e o, =ife e =e ot < & S TRl Tk Ao H ST S Wehd
stirstt, &, <<, womeh, oTen, affe, o, wee, I, NIST, Sfedn, TeRTd, hishun,
FU SR B fou Tu St B ford for o1 fhm o 7 s form @ €

(@) afe 219 &<t wd st o srfafted fordt o= wron # SR forad € O 999 6l 9o | 29 ool

Ffedi/Tafa st SR Shae STdeh! B8R |
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SCIENCE AND TECHNOLOGY
( faa™ wd vrenfitent )

(212)

Time : 2% Hours | [ Maximum Marks : 85
. nl h -

;21 we ] [ qurieh : 85

Instructions : (1) All questions are compulsory.

(2) Marks are indicated against each question.

frder 1) |t ge 3rfar €|
(2) TS TR % ik IHeh W fou T ¥ |

1.  Which one of the following gases is essential for photosynthesis ? 1
(A) Nitrogen (B) Oxygen
(€) Argon (D) Carbon-dioxide
frafafaa 9 & e 19 Jem Gyt & g e § 2
(A) g (B)  SfferefisT
(C) st (D) e SRAHES
2. Which of the following oxide(s) of iron would be obtained on prolonged reaction of 1

iron with steam?

(A) FeO (B) Fe,O,

(C) Fey0, (D) Fe,0, and Fe;0,

3TRRA (IET) AU 919 =t @l TG0 o AR | &g o1 f=fafead § § &9 9/39 9
HATFATES YTH BT/ 20 2

(A) FeO (B) Fe,O,

(C) Fey0, (D) Fe,0O, T Fe,0,

@
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3.  Some resistors are connected in a circuit as shown in the following figure. The equivalent 1
resistance in the circuit is :

o fewm U fos % SER $9 gfalius e ufay § gty e € uitey § wftod
JiaIe 8T

R A
R R R
WWWW——— MWW MWW—

K

| H 0
3R 5R
(A) 2R (B) — € 7R D) —

4.  The decomposers in an ecosystem : 1

(A) Convert inorganic material to simpler forms.
(B) Convert organic material into simpler forms.
(C) Convert inorganic materials into organic compounds.

(D) Do not breakdown organic compounds.

fordt oifds | sT9eee .

(A)  THREE T hl TAR €9 H 98 A S

(B) S ugref i TR €Y H 5 < T |
(C) ThrelfTeh werelfl bl shralfTeh AifTent § oge <d |

(D) eI TRl T ATeRA & Hd |

=
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5.  The numerical ratio of displacement to distance for a moving object is : 1

(A) always less than 1 (B) always equal to 1
(C) always more than 1 (D) equal or less than 1
ot nfomm fie & fore foreemas e g o1 vifher o1 e €
(A) Hed 18 %A (B) WId 1% TR
(C) ¥3a 19 afs (D) 1% SReR Ial FH
6. If a grasshopper is eaten by a frog, then the energy transfer will be from : 1

(A) producer to decomposer.
(B) producer to primary consumer.
(C) primary consumer to secondary consumer.

(D) secondary consumer to primary consumer.
If Heeh fege 1 @M ST O et TR0 i faem Bt
A) IUCH H TYEH I AR

Icaeh § Hreifieh SUHIERT i SR |

) nfheR Iuse 9 fgcterh s i 31X

D) fgdiaes Susiiedt & weifies Susier &t IR

B

~—"

@

(
(
(
(

7. Which of the following statement is correct ? 1

(A) Conversion of solid into vapours without passing through the liquid state is called
sublimation.

(B) Conversion of vapours into solid without passing through the liquid state is called
vaporisation.

(C) Conversion of vapours into solids without passing through the liquid state is called
freezing.

(D) Conversion of solid into liquid is called sublimation.
frefafead § 9 S wo 92 €2
A) 3E H T T F T[N o Aoy H U AU g ¢ |

B) AT %1 EF 7O I TR o1 S8 H R0 ST hgard ¥ |

~—"

@

(
(
(C) oTod 1 B STl § TSR o 3 § SR fewfentor shgarar g |
(

D) 3/ H1 5 H TR0 eI Heeld ¢ |

AT RRATAVUIVATTRWAW ¢ conta..
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8.  Two chemical species X and Y combine together to form a product P which contains
both X and Y.

X+Y->P

X and Y cannot be broken down into simpler substances by simple chemical reactions.
Which of the following concerning the species X, Y and P are correct ?

@) Pisa compound.

() XandY are compounds.
(i) Xand Y are elements

(iv) P has a fixed composition.
(A) (), (ii) and (i)

(B) (), (ii) and (iv)

(C) (i), (iii) and (iv)

(D) (), (iii) and (iv)

T TR TS X T Y A0 B HY Bk S P oA § e X den Y S sufeerd ¥ |

X+Y->P

X T Y ol T TR Afufshan gR1 e aereif # el el S Wehdt © | fefafed § 9 e
Y FYF X, Y q1 P TS o geof H g § 2

() PUTH AR

() X demy s g

(i) XTAMY T )

(iv) Pl Tk FAf¥=a e 2|
(A) (i), (if) T (i)

(B) (i), (ii) T (iv)

(C) (i), (iii) T (iv)

(D) (i), (iii) T (iv)

AT RRATAVUIVATTRWAW ¢ conta..
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9.  If the fossil of an organism is found in the deeper layers of earth, then we can predict 1
that :

(A) The extinction of organism has occurred recently.
(B) The extinction of organism has occurred thousands of years ago.
(C) The fossil position in the layers of earth is not related to its time of extinction.

(D) Time of extinction cannot be determined.

e TRt e o1 Sfiamed gedt it el wdl & U g7 &, 7o 50 wfasqami X 9 8 fF -
(A) ST = forel B/t 21 % F© a6 H gen g

(B) Sftal =1 faeim &= auif 9 gafl |

(C) et &t qaf H Siramey =t fearfa o1 Siia & foqqm a9 &t 1afy § i gaiy =& 7

(D) faorw 2 =t stafyr w1 frefeor & fohan < wehan

10. Find the derived SI unit for density and pressure. 2

B AT S16 o Scqe S AT J1d hiToT |

11. Rewrite the following measurements without using SI prefixes : 2

@ 1pm i) 12 Gm (i) 1nm (@iv) 10 Tm

~

frefefEd Ardl ol SI qeieri o1 S&mTe fot, iR gA: fafam |

i 1pm i) 12 Gm (i) 1nm @iv) 10 Tm

12. State two advantages and two disadvantages of using fossil fuels as sources of energy. 2

ol BId o ®9 H SHared TeH1 ol YA HH & S 1Y 941 S |I1 ohl dId18u |

AT RRATAVUIVATTRWAW ¢ conta..
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13. How much heat is required to raise the temperature of 5g of mercury from 20°C to 2
200°C ? (Specific heat capacity of mercury= 0.138 X103 J/kg°C)

5¢ IR (Fehdl) 1 19 20°C | 200°C T sgH < T fordT SoA1 i STerearshal R 2 (IR
(7Rl =t fafire o et = 0.138 x 10° J/kg°C)

14. State Newton’s law of gravitation. How does the force of gravitation between two 2
objects change when the distance between them is reduced to half ?

=] 1 TecaTehy vl I a9 Fary | afc Q a&gat o o= ot g 1 31en L i Se dt 37k
o9 ecaTehtl oel fhe JehR sgerT ?

15. Give examples of any two major water pollutants and mention their sources. 2

foR-gl <1 & ST UGWeh! oh IS QMY ST 3ok A oIy |

16. What is the difference between molecular mass and molar mass ? Calculate the mass 2
of 0.5 mole of N, gas. (Atomic mass of N =14u)

3 TN TR AR §AWH H 91 $T<R ¢ 2 0.5 A N, | % §HH & T0MT i |
(N 1 GRHTY] ZoFHH = 14u)

17. Abida went to Kashmir during a winter season. She observed that the fish and other 4
aquatic animals living in the Dal lake do not die even during severe winter, though the
surface water of the lake was frozen. She was curious to know the reason behind this.

Can you explain her why aquatic animals living in water bodies of very cold regions do
not die in severe winter ?

sTfaIeT TS o AH H HYHR e | 39 <@ o Fefy stafus o § < sia & 9dg &1 ae
ST T o, TR off sitet § e aelt Tefaar STk gE Sl S el WA | 98 SHeRl RO S
% foTT Sk ot | 9T 31T SH HeN Yehd € T el fahmil # Te arel Sfeftd i 3Tcid 3vesh
% Hiem § 4 78 W ?

AT RRATAVUIVATTRWAW ¢ conta..
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18.

19.

20.

21.

22.

52/AS/4-212-A ]

Giving structure of diamond and graphite compare their electrical conductivity and
softness.

B 3R YHTES i AT o U Soh! T AeTohdl AT ShIHEIdT i gerl SitsId |

Define work. State the relation between work, force and displacement. Prove that the
increase in the kinetic energy of a body is equal to the work done by the force acting on
the body.

w1 YRYIG Hifeg | &E, 9o ao fawemq § Hdy 9aee | fag wifse fe e &t nfas
Tl H gfg fie | M a1 9 gR1 foRT T¢ & 3 e Bt

What is meant by inertia ? Describe an activity to show the property of inertia. Why
do the passengers standing in a bus fall in the backward direction when the stationary
bus begins to move suddenly ?

e ¥ 7 YR |2 SIS & T[0T Rl S o fore Tk fonamshaid i 9o wifee | Tt g5
o9 H G I ST o F Tl T WS i AR = IR W € 2

State any four factors that should be kept in mind for rearing hens for better production
of eggs and broilers.

Fagpe e |, ST T JATFeR & T2 SR o fa &M <7 a1 fohl IR SReh ol STy |

Mention direct and indirect methods of transmission of communicable diseases.

Tshreh T o TshHUT shi Yoal qen STyce] fafai <1 oo Sifsia |

]

AT RRATAVUIVATTRWAW ¢ conta..



23.  What is a balanced chemical equation ? Explain the significance of a balanced chemical 4
equation. Balance the following chemical equations :

(i) C,H;OH +0,-CO,+H,0+ Heat
(i) H,S+0,-5+H,0
(iti) Al+HCI>AICL +H,

o o

Hqfera TarfTe TR # ¥ 7 U Gfad THEfTe il & Hee i SRl it |

frfafad T Rl ol Ggfad it :

() C,H;OH +0,—CO,+H,O + e
(i) H,S+0,-S+H,0

(i) Al+HCI>AICL, +H,

24. How does the atomic size vary as we move from (i) left to right in a period and (ii) top 4
to bottom in a group ? Give reasons for these variations.

i 79 foRet (i) ommad ® o | < SR (ii) TR H I H A, At AR S § @ W] % west
(3TeRR) H o IRE 81 8 2 39 qRadHl sl RYT Sdmsy |

25. Describe the model of atom as proposed by Thomson. In what way is this model 4
different from that of Rutherford’s atomic model ?

ATHEA GRI FEATfad IHIY] o Hied sl 90 hifST | I8 Hied IRl o WA Aied ¥ frd
TR fa %2

26. Explain the two types of cell division. Give significance of Meiosis. 4

ShIfSTeRT fadTsH o QA TRl ki same HifSe | STegEh o (frnfaw) =6 wga difs

27. What is meant by colour blindness ? On which kind of chromosome or autosome are 4
defective genes causing colour blindness located ? Why is colour blindness found mostly
in boys.

iean § R AYTE § 7 T S S ATl Qraqul S shid § TURE ST S oRE W
feord 210 € 2 TTieraT TSR oieehi B & 91 Ui S § 2
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28.

29.

30.

Describe the pH scale. Give any four examples to show the importance of pH in our
everyday life.

pH Thet 1 I HIST | FAR SfFeh Sitae § pH o1 e T & ot i 9R Saeo Sifer |

Identify the device used as a spherical mirror or lens in the following two cases, when
the image formed is enlarged, virtual and erect in both the cases.

(@) Object is placed between device and its focus, image formed is behind it.

(b)  Object is placed between device and its focus, image formed is on the same side
as that of the object.

Also, draw ray diagrams to show the formation of image in each case.

An object is placed at a distance of 10 cm from a convex mirror of radius of curvature
30 cm. Find the position and nature of the image.

Frfafaa feafaat § et S9o1 196 | o €9 H Jfod Tt 989 Shiferg @i T fefa §
aTaffa, STt Ue Hien giafsis a1 € |

(a) Toiar gf oIR 3T ®IHT o i T qe gfdfse 3q T o1 2|

(b) fo@ Ife 3R Tk Wik & o= g a0 gfafeia S R sa © f9 iR foa feem §1
Yoo Teurfd # wfcfsisl s <l <91 < ferq foptor s = |

30 cm Tehdl 52 & forelt 3T <O § I fod 10 e T8 W W@ 71 gfafaa i feafa qen

Yhfd T HIFT |

Explain the process of digestion of carbohydrates, proteins and fats in human beings.

qdl § FEREse, A Ul I9l o 9T hi Fishal shi SAAT Hifod |

-000-
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This Question Paper consists of 29 questions and 10 printed pages + one outline map of India.

T Y- § 29 U9 a9 10 Hfqd U3 + WRA 1 Teh (@1- A=A ¢ |

Roll N.O' Co:s;;: 52/ AS/4

SOCIAL SCIENCE Set| A
( wrTSTeR foer )
(213)

Day and Date of Examination

el &t fo 9 foian
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General Instructions :

1.
2.
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Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given
in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book
given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 52/ AS/4-A on the Answer-Book.
(@) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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Thenefl T9TA % Rl IS W STUAT ST IS 31w ford |

FUIT IS I W o R T F F Yot a° T bl SaHl & He § A gud I % ged
IR U T 139 91w S o I oA o 7 wiAw w9 H €

ST Ue § SRl IR faswed (A), (B), (C) @ (D) ¥ | @i Wah SW g1 € 9 & T8
SR ¥ 319 92 S| fafau |

TS Tl o Wi Feft gl o S i safy & i & <9 B | agfTss el o fore etem
Y Try el fea S |

IW-qfedert H qgaH-fag oaam Ao ffde wrl & sifafted w2l ot stgshdier forem o adaneff
1 ST A ST |

SO IT-GREdehT R Y9 i *ie demn 52/ AS/4-A fod |

(F) !;ﬂﬂ?{ﬁﬁlﬁ%ﬁ/@?ﬁﬁ%l TRT o, =ife e =me ot =i & S forefl Tk Ao H ST S Wehd
stirstt, &<, <<, woeh, oTen, affe, o, wee, I, TNIST, Sfedl, TeRT, hishun,
FU SR B fou U St # ford fop o1 form v 7 s form w@ €

(@) afe a9 &<t wd st o srfafted fordt o= v § SR fored € O 999 6l 9o | 29 ool

Ffedi/Tafal st SR hae STdeh! B8R |

N
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SOCIAL SCIENCE
CICUSERACRIED

(213)
Time : 3 Hours | [ Maximum Marks : 100
9 : 3 H0e ] [ guifer : 100
Instructions : (1) All Questions are compulsory and carry marks as indicated against each

question.

(2)  For Multiple Choice Questions four options are given. You have to choose
right option and indicate it in your answer-book.

(3) Attach the map with answer script.

fordor (1) |t gea Srfame ¥ iR U T9A & 3k 3Tk wmA fed T T
2) wgfIRedd T & uR foskey f@ & T o9 wE foken IR @R et
SR-YRaa ®§ fafaw)

(3) T T Amfes F IW-YRdaht & W Fer hifs |

1.  In the given political outline map of India locate and label the following : 1x4=4
(i) Cardamom Hills
(i) Kosi River
(iii) Tadoba National Park

(iv) Major wheat producing area of Himachal Pradesh

&3 T 9Ra % W Aeeifas AEtes § Frefatea s swge o 9 gy ok S A
fafad

i) reium wifeat

i) R TART

i) Qe U AN

iv) TedmEe W w1 Y@ T S &

(
(
(
(

@
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Identify and write in your answer-book the correct names of four major International

Airports of India shown as (1), (2), (3) and (4) in the given political outline map of

India.

1x4=4

<3 T8 9RA % SHHIfd W@ AEfes § 9YRA & SR & SHaUsid 7o 379 (1), (2), (3) 92
(4) | T I T TR T A TR W A 1O Iavgfent H fafad |

HI'IEINI'

7]

1.

51
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Note : The following questions are for Visually Impaired candidates only in lieu of
questions no.1 and 2. Answer to these questions must not be in more than one

sentence.
(1.1) Name any two hill ranges of Meghalaya plateau. 2
(1.2) Name the southern most major Peninsular river. 2

(1.3) Write names of any two types of animal species found in Dudhwa wild life 2
sanctuary.

(1.4) Name any two regions of India where tidal forests are found. 2

e . A Ty Foa it wenfe % foaw e dem 1 qen 2 % WE W E
T H W I 1 ST AT Teh e § gifeig |

(1.1) HeTerd USR i <1 ged Sf@etedi & am fafed |

(1.2) o <farorerdi T @ WEgidrE e 1 T4 fofey |

(1.3) Y o= SiteM SAHIRTI H T S a1t TRl &1 o= Sitel gt o = fafaw |
(1.4) 9Ra & fF=8 1 &l o - foAfeT sel sa/ig o= & o |

3.  In which of the following years was the radio transmission started in India ? 1

o~ o e

frefafed # 9 forg ad & 9rd o Yed gamor &1 gRy g3t o1 ?

(A) 1925 (B) 1927 (C) 1929 (D) 1931
4.  Which of the following factors does not affect the population change in any country ? 1
(A) Birth rate (B) Death rate (C) Migration (D) Tourism

frfafad # 9 SH-91 SR fordl 9 St SEE Tiieds sl guTfed el idl & ?

(A) SH (B) I (C) I (D) A

AT RRATTADVIVMUAWAW ¢ conta..
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5.  Which of the following is the tenure of a Vidhan Sabha of any Indian state ? 1

(A) Three years (B) Four years (C) Five years (D) Six years

fordt Toh YRAT T st faem @ &t stafy fefafad § 9 weE g2

(A) = o (B) <R Y (C) = o (D) BEH

6.  Which of the following does not contaminate water bodies ? 1
(A) Growing Population (B) Urbanisation
(C) Industrialisation (D) Recycling of Resources

frefafaa § @ S So feml 1 wgfia T8 82

(A) el SHEE (B) RIS
(C)  friieRor (D) AT 1 TR

7.  Name the two Western thinkers who encouraged vernacular languages and literature 2
in India.

3 1 iy famment & W fafad fSr=ia YRa o &5 vrored qen 9ifec sl Uicanted fohar |

8. How do both the Houses of Parliament maintain their control over the Council of 2
Ministers ? Highlight any two ways.

TS % Ml e ford TR afe gftve o s1aer =01 o Wad € 7 forl S aliehl &1 3SR

HifT |

AT RRATTADVIVMUAWAW ¢ conta..
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9.  Define the term ‘democracy’. 2

"Areea’ T1eg 1 AR hifST |

10. Explain any two major challenges which our country faced after independence. 2

AT o 1 THR <9 H FIEAT 6t TE TRl < @ ATl Sl T Hifee |

11. Describe the features of agriculture practiced in the Harappan civilization. 4

TS Al H i 75 HiW I foRreaieti 1 auiH Hifw |

12. Explain the Mansabdari System of Mughals. 4

TTCll ! FAERN e’ Sl AT it |

13. Describe main ideas of Raja Ram Mohan Roy which made him a prominent thinker 4
ahead of his time.

ST T Hied T o JH@ fo=ml 1 9l Sifsd Sl 3% 37 99 & 1M 1 faames s € |

14. Describe the Faqgir and Sanyasi Rebellions of 1770 - 1820s. 4

1770 - 1820 TSI o FehX q T=r) fagiel =1 ovfq sifsu |

15. Explain the formation of Muslim League in India. 4

IRA ¥ YR & o T i fad=m ifsd |

N
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16. Explain the specific features of the “Thar Desert’ of India. 4

U o ' IR A%’ o fafdre s &t samen sifsd |

17. What type of weather conditions prevail during the month of October in different 4
parts of India ? Explain.

IRA & fafsr= il § steger o weM H S Hiem o1 w1 ¥ 2 AR St |

18. Explain the main features of the “Tidal forests’ in India. 4

IRd H ‘SR a1’ i e foRrmdied ol ¥ Sifag |

19. Why is a Constitution must for a democratic country ? Explain four reasons. 4

Teh diehd <91 H Hfaem 41 2avae B 8 2 IR SR T hifu |

20. Why is the ‘Right to Constitutional Remedies” a very important right given to Indian 4
citizens ? Give four arguments.

R AR 1 fem T ‘ST SuERi o IR’ U STeid Ut ST i § 2
EIGET SRR

21. Explain the ideas behind Directive Principles related to Gandhian thought reflected 4
in the Indian Constitution.

IR Hfaes § fafed nieferd faememn & wrfem Hfatres fagra w yeyfa § foar
! AT i |

AT RRATTADVIVMUAWAW ¢ conta..
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22. Describe the functions of political parties in the formation of government in India. 4

ORA H THR & 94 § ToiHI{deh Sl o hidl bl 0 hifsid |

23. Analyse any four issues which are considered as undesirable during election and 4
demand immediate attention for reform.

o=t = =i =1 forveraw s, 58 gma & <R eraifed 7M1 9T €, 3R 3% R dohr
S T T SATITIHT ¢ |

24. Explain the changes in the Indian economy in the last decade of 20t century. 4

el IdTeal o SifaH <91k H YR S1efeasen H 3T UfiadH] st Saredl shifsd |

25. How is ‘dynamism’ a very significant characteristic of environment ? Explain with 4
examples.

‘TSRl foRE YR TRITeRn 1 Tk 3ifd Hewqut fasiedr €7 3eeun |igd T hifer |

26. Describe about the changes which helped in the economic growth of Italy during the 5
Renaissance period.

IR el H Seall st oTifien s1fygfs H Sem&ar i arel aRedHl ol v it |

27. Analyse the contribution of Bismarck in the unification of Germany. 5

~

STHHAT o Tehieheol § foiTeh o ANTE a1 fageroor shifs |

AT RRATTADVIVMUAWAW ¢ conta..
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28.

29.

Describe the geographical conditions required for the production of cotton in India.

URd H H9Y I & fad eTeeaes dinifaes <ensti <1 auiq shifsd |

Examine the significance of local government in modern democracies.

3TYfTeh Tlehdal H A IMEA o T Sl @ it |

-000-
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This Question Paper consists of 34 questions and 8 printed pages.
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Thenefl T9TA % Rl IS W STUAT ST IS 31w ford |

FUIT IS I W o R T F F Yot a° T bl SaHl & He § A gud I % ged
IR U T 139 91w S o I oA o 7 wiAw w9 H €
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Time : 3 Hours |

ECONOMICS

( 3T )
(214)

[ Maximum Marks : 100

9 : 3 H0L ] [ quiis : 100
Instructions : (1)  All questions are compulsory.

(2) Marks allotted to each question are indicated against it.

(3) Each question from Q. Nos. 1 to 8 has four alternatives (A), (B), (C) and (D)
and out of which one is the most appropriate. Select the correct answer
and write it in your answer-book against the number of question.

fder: (1) |t e e €1

(2) WAH YA F 3k 3Tk WA T T |

(3) TS U¥T HHAG 1§ 8 T, TA® YT § AR dshfedsh MK (A), (B), ()
3iR (D) few e € fov | w9t o waifees 3faa §1 W@ SR 9w qen o
SW-YRent § 3§ I99 shiish o A fafaw |

1.  Which one of the following is not a subject matter of Macroeconomics ? 1

(A) Determination of price of a commodity
(B) Problem of inflation

(C) Problem of unemployment

(D) Problem of economic growth

frfafeaa § 9 =F 91 T qafte i &1 faug =& € 2
(A) T %] i HAd & TR

B) Hgl THIfd hi HHE

C

o~ o~

SUSTTRY ohl THET

—~

)
D) sTf¥fer Hafg i wwem

2. Problem of “allocation of resources’ arises because : 1
(A) Human wants are unlimited
(B) Resources are scarce
(C) Resources can be put to alternative uses
(D) All of the above

‘HHIYAT o SATEe’ hi HHE 30 Bl ¢ ¢

(
(
(C
(

52/AS/4-214-A |

A)  Hifer AFEE STEvahdnd STEiad €1
B) Hife HameH Gifa €1

) itk FEEA % 3T dehfeush JAM B T % |
D) 39 Wefl % HROT|

AT RRATTADUIVETERWAW ¢ conta...
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3.  Problem of ‘growth of resources’ is faced by : 1
(A) All economies
(B) Only developing economies
(C) Only mixed economies
(D) Only socialist economies
‘Gl g T T T HHAT HAT ISl ©
A) g+t srefeaTens &
B) o faskmasiial stefezrereensdi =l |
C) whaet fufs steferaeenat = |

)
D) hecl FHSEE! Ao |

(
(
(
(

4.  Total revenue refers to : 1
(A) Total amount of money received by the seller during a given time period
(B) Revenue per unit of output sold
(C) The difference between total sales and total cost
(D) Total quantity of a commodity sold

P e Y SrfuyE ©

(A) T srafy H foskar g1 U it Aifgeh My
(B) TR o fosha ¥ Ufd gohre oTH

(C) F fashl IR A AN 1 3TN

(D) Torsh® sl T8 a&] i el A

5. Indian Railways is : 1
(A) A private unit
(B) A public unit
(C) Sole proprietorship
(D) Partnership
IR ¥eTd § T

(A) fooft s

AT RRATTADUIVETERWAW ¢ conta...
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6.  Control price is : 1
(A) the equilibrium price of the commodity.
(B) the price fixed by the seller of the commodity.
(C) the maximum price of the commodity fixed by the government.

(D) the minimum price of the commodity fixed by the government.
frafaa wima w1 o1 ©

(A) TE H I HEd Bl S

(B) =% % foshan grr i@ shiwa Bt B

(C) TR gR1 Frwifia =g ot eAferhad sima aiet T

(D) R gRI Feffid =g i =aq o 2t 7|

7.  Tendency of data to cluster towards the central location or value is called : 1
(A) An average
(B) Arithmetic mean
(C) Central tendency
(D) None of the above

TMHS! hl Heald T A1 o hi 31K THA 8 St Ygf FHeard ¢ :
(A) ia

8.  Consumer awareness includes : 1
(A) The knowledge of the product by the consumer in terms of quality

(B) The education about various types of hazards and problems associated with
marketing of a product

(C) The knowledge about consumers’ rights and consumers’ responsibilities
(D) All of the above

ST el H Ainfed § :

(A) 39K GRI GRS T8 &% 1 T0Ta o fawa § SRR

(B) IS I = ¥ Haifya fafy= YR o Sifew qen awensii & ar # fan <
(C) YIS o SAIHR q1 Ik IR IS hl JH
(D)

D) SWdx A+t

AT RRATTADUIVETERWAW ¢ conta...
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9.  Name any four resources used in the production of wheat. 2

% o eAeA H WA foRT S et TRl wIR denert o AW fafed |

10. What are factor incomes ? 2

Y 3 1 2l § 2

11. Define total product. 2
ENERICEIRTCICIREI S

12. A seller of potatoes sold 20 kg. of potatoes in a day. His total revenue is I 220. Calculate 2
his average revenue.

3T1e] o e foshar 7 Wk e o 20 for.am. a1y o1 foshar foram | 3S9ehT ot MW 220 €1 36k
3id ST T U1 FIfST |

13. Suppose, you are a seller of some commodity. State the important factors which can 2
influence your decision in fixing the price of that commodity.

T clifd, oty forddt svq & fashar €1 37 Aoyl HRhl H1 Ieord HifSTH S 37 %] ht
Hd ! Tf=d 0 H ef9es 019 1 geffad o Tehd © |

14. What is meant by ‘market’ in economics ? 2

AL § IR 9 R AU R 2

15. Define saving. 2
EESEIRICILIIERY
16. How is arithmetic mean of a given data obtained ? 2

A T TSl T THR T h T foRA ST § 2

17. What is meant by ‘right to safety” of a consumer ? 2
“Sufer bt TR’ % SAfHR | A € 2

18. What is meant by pollution ? 2
TGO & T Ay 2

AT RRATTADUIVETERWAW ¢ conta...
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19. Distinguish between single use consumer goods and durable use consumer goods. Give 4
one example of each.

Tehel SN ST TEGT T STEGART STHIHT TGS | HE HITIT | Tk Tl Teh I3
HiE

20. How will you identify a socialist economy ? Explain. 4

9 Teh FHSTETG] STHAET hi T hd Hidl ? FHIET |

21. Explain the concept of product based division of labour with the help of an example. 4
T SN0 hi HETHdl § ScaE S 4 TS whi SFAERON TS |

22. Explain the law of supply with the help of a supply schedule. 4
Tk SYfd ST ol Feral § 3Tgfd o F1am st =men sifs

23. Explain any two functions of money. 4

g1 o Tl <1 Sl ! AT i |

24. How does a bank create credit ? Explain with the help of a numerical example. 4

S TRG T G HY FA1 T2 Toh GEHF a0 hi TRl ¥ GHAE |

25. What are primary data ? Describe any two methods of collecting primary data. 4
e TR o1 BId € 72 WATHE 3Tkl & Gehod A i Tl <1 fafersii o1 aofa wifsm

26. Identify whether the following items are variables or attributes ? Give reasons in support 4
of your answer.

(i) Height of a student

(i) Beauty of a girl

(iii) Intelligence level of a boy

(iv) Weight of a person

e wifey fo fFrafafad og =) € stuan 1 ? e S & fod SR s

() W fommef =1 %

ii) T ISHI hl Gl

(
(iti) T TS hl TG Al &R
(iv) ek Hfokd 1 IS

AT RRATTADUIVETERWAW ¢ conta...
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27.

28.

29.

30.

31.

32.

33.

34.

52/AS/4-214-A |

The following are the marks secured by 70 students of 11t class in Economics. Calculate
arithmetic mean by using short cut method.

Marks : 0-20 20-40 | 40-60 | 60-80 | 80-100
No. of students : 8 11 20 21 10

el 11 H erefome § 70 faenfi gru i = o w3 €1 oy faf =1 e e g
HTE Y AT Sifed |

3T : 0-20 | 20-40 | 40-60 | 60-80 | 80-100
IEEIRRIEIRSEIR 8 11 20 21 10

Explain the importance of international trade.
SIS AR 1 Hged IHeEy |

Explain the role of service sector in attracting funds from foreign countries.

forcell § Il Sl ST FLT § Fa &5k T fHeR1 6! A FHIFIT |

What are the grounds for filling a complaint by a consumer ?
Sy g Rehrd TSt A o TR 01 € ?

Explain any two factors which may affect the individual demand for a commodity.

fordt g 1 =afaaTTa Wi il genfod e a1t fh=dl <1 Rehl ot AR Hifaq |

Describe any two notable features of the Indian economy at the end of British rule.

FAUS o MR & 3T | AR TfeTeren &t fr=l < eaH e Ay fasvaisti &1 ouH
R |

What is the role of the government in controlling prices in India ? Explain.

IR H HITdl 1 =0 H H GRR Y 9 i €2 gHeE

Explain any three causes of soil degradation.
7 & frefteRtor & fordl i SRell it samen s |
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This Question Paper consists of 34 questions and 8 printed pages.
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Thenefl T9TA % Rl IS W STUAT ST IS 31w ford |

FUIT IS I W o R T F F Yot a° T bl SaHl & He § A gud I % ged
IR U T 139 91w S o I oA o 7 wiAw w9 H €

ST Ue § SRl IR faswed (A), (B), (C) @ (D) ¥ | @i Wah SW g1 € 9 & T8
SR ¥ 319 92 S| fafau |
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ECONOMICS
( 3TAITE )

(214)
Time : 3 Hours | [ Maximum Marks : 100
9T : 3 90 ] [ quiiek : 100
Instructions : (1)  All questions are compulsory.

(2) Marks allotted to each question are indicated against it.

(3) Each question from Q. Nos. 1 to 8 has four alternatives (A), (B), (C) and (D)
and out of which one is the most appropriate. Select the correct answer
and write it in your answer-book against the number of question.

et (1) |t g7 3rfam 2|
(2) TH YT o 3Tk 3Tk WEA I T F |
(3) TS Y HHS 1 ¥ 8 T, TIH T H ¥R Fhfcus S| (A), (B), (Q)
3R (D) fou 7w ¥ 59 9wk W a1 Taifuss Sfaa €1 W S g qen ST
SW-YRenT § 3§ T9F hdish o 9 fafaw |

1.  Problem of ‘growth of resources’ is faced by : 1
(A) All economies
(B) Only developing economies
(C) Only mixed economies

(D) Only socialist economies

‘el st Ggfg’ I GEET T HHAT AT S |
(A) |t srefeTerEat &l |

(B) <haa Toerreiicl stefeaeenaii <l |

(C) ot Thfya sreferaensti i

(D) e GHISENE] SAeferereesli ! |

AT RBATTADAIVETERMAN ¢ conta.
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2.  Tendency of data to cluster towards the central location or value is called : 1
(A) An average
(B) Arithmetic mean
(C) Central tendency
(D) None of the above

3TMHSI hl Heald T A1 o hi 31K THA e St Ygf FHeard ¢ :

3.  Consumer awareness includes : 1
(A) The knowledge of the product by the consumer in terms of quality

(B) The education about various types of hazards and problems associated with
marketing of a product

(C) The knowledge about consumers’ rights and consumers’ responsibilities
(D) All of the above

YT el | wftfed §

(A) U GRT BRIS TS 3% i TUre o fawa § SwR

(B) TR I I ¥ Heiferd fafir=1 yenR & Siifam qen goenedl & o) § forem <
(C) SuMrTISA! o SATYHRT T 3ok I T M
(

D) SWdx A+t

)
)

4.  Marginal revenue refers to : 1
(A) Revenue per unit of output sold.

(B) Increase in total revenue due to one unit increase in the sale of the quantity of
output.

(C) Total amount of the money received by the seller during the given time period.
(D) The price at which last unit of the goods is sold.

T 3T § e §

(A) o9 T IS 1 Y Sh1g HATTH |

(B) 7R i forshl ® T T i gfg ¥ Fl 3 | B arelt gig |

(C) T g afy ¥ fashdr g1 9 Fa T

(D) =% a8 R awg H A< s o= T |

AT RBATTADAIVETERMAN ¢ conta.
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5.  The minimum number of shareholders in a private company is : 1
e it sheot § sTorenfiEi st =Ean e B ©
(A) 2 (B) 7 ©) 10 (D) 20

6.  Token price means : 1
(A) maximum price of the commodity
(B) minimum price of the commodity
(C) a price which is much below even the per unit cost of production
(D) price fixed by the market

Hichfash Fimd &1 319 T :
(A) oIE] I ATYHAA hiAd
(B) O] i =T HIAA
(C) UE HIud STt Ul 3T ANTd ¥ Sigd FH 2l ©
(D) TSR gR1 fAifa shiwd

7.  Which one of the following is not a subject matter of Macroeconomics ? 1
(A) Determination of price of a commodity
(B) Problem of inflation
(C) Problem of unemployment
(D) Problem of economic growth

frafafead § & &1 @1 T gufe stefene &1 fava & €2
(A) T I%] i HiAd 1 e
B) HgT ThIfd sl FHE

(
(C) ISR =hl THET
(D) sTfeiek Hafg ol THE

8. Problem of “allocation of resources’” arises because : 1
(A) Human wants are unlimited
(B) Resources are scarce

(C) Resources can be put to alternative uses
(D) All of the above

‘1Yl o SAEeT’ ohi TS U oIt © ¢
A)  Hifh AFEE AR ST €
B) Hife Hamer Gifa €1

C) Hiifer HETHHA & 3T Ahfcush AN & Tehd T |
D) 39 Hfl % HROT|

(
(
(
(

AT RBATTADAIVETERMAN ¢ conta.
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9. Give two examples of economic wants. 2

Tfefeh STETIHAIST & T SSTELU SIfSIT |

10. What is meant by ‘right to safety” of a consumer ? 2

‘SusiierT <t TR % SRR § A e ¥ 2

11. Define average product. 2
3T 3e1g 1 g S |

12. What is meant by pollution ? 2
TGO & T Ay 2

13. What are factor incomes ? 2

Y 3 1 2l § 2

14. A seller of potatoes sold 20 kg. of potatoes in a day. His total revenue is I 220. Calculate 2
his average revenue.

e % Tk Toshen ¥ Wk e & 20 fo.7. 377 1 okt TR | SHeRt ot ST 2220 %1 ST
3iTEd 3TTH i U1 HIfSC |

15. Suppose, you are a seller of some commodity. State the important factors which can 2
influence your decision in fixing the price of that commodity.

TH SfifeE, A9 foredt a%g o forshal €1 37 HEEYUl I I Ii@ HitH S 39 a& R
A I ffv=d & § ey fofa 61 genfad s ged €1

16. What is meant by ‘market’ in economics ? 2

AT H R 9 R AU R ?

17. Define saving. 2
EESEIRECIEIIERT
18. How is arithmetic mean of a given data obtained ? 2

fed T3 STihel 1 TR A1 S Wi R Sian g 2

AT RBATTADAIVETERMAN ¢ conta.
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19. Distinguish between goods and services. 4

Tl SR Fae # S F

20. How will you identify a mixed economy ? 4

e ThfYa stefereen it g9 H9 w2

21. Explain the concept of capital intensive technology of production with the help of an 4
example.

Teh IR0 i TR T STTEH i YSit TTe qeheileh! hi STILROT HAET |

22. Explain the importance of international trade. 4
SRS TR 1 W FHEEy |
23. Explain the role of service sector in attracting funds from foreign countries. 4

forcell § Il Sl TR FLT § FaT &5k T fHeRT ! AT HIFIT |

24. What are the grounds for filling a complaint by a consumer ? 4

YT GRT TR g o & STHR T | 2

25. Explain the law of supply with the help of a supply schedule. 4

Tk MY ST it Temaar § eufd & fom it =amen Hifew |

26. Explain any two functions of money. 4
e & fordl © Rl i AT ShifT |
27. How does a bank create credit ? Explain with the help of a numerical example. 4

Sh UG T G HY HLAI 7 Ueh G&ATHS IS0 hi TRl ¥ Uy |

28. What are primary data ? Describe any two methods of collecting primary data. 4
e TR o1 210 € 72 WATHE 3Tkl & Gehod A i fhwal <1 faferii o1 aofa wifsm

AT RBATTADAIVETERMAN ¢ conta.
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29.

30.

31.

32.

33.

34.

52/AS/4-214-C |

Identify whether the following items are variables or attributes ? Give reasons in support
of your answer.

(i) Height of a student

(i) Beauty of a girl

(iii) Intelligence level of a boy

(iv) Weight of a person

qg9H Sitee for f=fafead ag = € s1een 9g ? o194 S & fod o s
(i) W fommef =1 %

(i) T TSH! I Gl

(ili) T TSh ! JHHMT T TR

(iv) ek Hfokd 1 IS

The following are the marks secured by 70 students of 11t class in Economics. Calculate
arithmetic mean by using short cut method.

Marks : 0-20 20-40 | 40-60 | 60-80 | 80-100
No. of students : 8 11 20 21 10

el 11 H erefome § 70 faenffai gru i = o w3 €1 oy faf =1 e e g
HTE Y AT SHife |

3 : 0-20 | 20-40 | 40-60 | 60-80 | 80-100
IEEIRRIEIRSSTIR 8 11 20 21 10

Describe any two notable features of the Indian economy at the end of British rule.

FAUS o YT & 3T | URA rfeTeeen &t for=dl S M e Iy foewarsti =1 =i
R |

What is the role of the government in controlling prices in India ? Explain.

IR H HITdl 1 =0 H H GRR ht T i € 2 gHeE

Explain any two factors which may affect the individual demand for a commodity.

forelt ar%g ot AfRTT AT Sl YIfod T ot fR=l <1 el bl ST ST |

What is meant by “soil degradation” ? Explain the effects of soil degradation.

‘yfty o fetertor’ & o stfyum ® 2 yft & fefieRtor o gurel st smen wifs |
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This Question Paper consists of 36 questions and 8 printed pages.
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For the objective type of questions, you have to choose any one of the four alternatives given
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You are required to indicate the language you have chosen to answer in the box provided
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Thenefl T9TA % Rl IS W STUAT ST IS 31w ford |

FUIT IS I W o R T F F Yot a° T bl SaHl & He § A gud I % ged
IR U T 139 91w S o I oA o 7 wiAw w9 H €
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HOME SCIENCE

(T faam)

(216)
Time : 2% Hours | [ Maximum Marks : 85
T 21 e ] [ quiish : 85
Note (1) All questions are compulsory.
(2) Marks are indicated against each question.
feer: 1) Wit v et €
(2) WAH Y F 3ieh 3GF A faw Tw )
1.  Which vitamin works with Phosphorous and Calcium to make teeth and bones 1
strong ?
(A) Vitamin A (B) Vitamin C (€) Vitamin D (D) Vitamin B

i foerfam <l aon sfgeal St Iete s T & fou SHiceam qon wienid S afst &
1oy THeteh e i © 2

(A) faafd A (B) fearf = C (C) faaf D (D) foerf = B
2. Dovetailing is :
(A) Doing one’s own work 1

(B) A machine name
(C) A form of car racing

(D) Doing two or more activities at the same time
Taefa &1 iy # -

(A) 39 T T KT

(B) Ueh UM I TH
(C

(D

) T R IS T THR
) e & HHA W AT AR B

@
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3.  This fibre is called Queen of all fibres : 1

(A) Jute (B) Cotton (©) Silk (D) Wool
3G T I TG Bl T T ST ©
(A) e (B) U™ (C) wWm (D) 34
4.  Glass windows and mirrors can be properly cleaned by using : 1
(A) Tamarind (B) Bleach
(C) Moist newspaper pad (D) Phenyl
Taeh! 9 oY o= ¥ 9% & & foag 940 # M ¢
(A) T (B) ==
(C) TEER I el U (D) frEa
5.  Style of parenting where children are allowed to make their own decisions is : 1
(A) Permissive (B) Autocratic
(C) Democratic (D) None of the above

Yifen fafy el s=ai sl T oo Fol oF fean S @

(A) STIRHR (B) TRg™
(C) irehdifh (D) S § | S &
6.  One gram of protein gives us : 1
(A) 9 kcal of energy (B) 16 kcal of energy
(C) 10 kcal of energy (D) 4 keal of energy
T UM WA & foereT @ o et ©
(A) 9 kcal Sl (B) 16 kcal S
(C) 10 kcal S (D) 4 kcal 31l

AT RRATTADAWVAWAW ¢ conta...
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7.  The mode of spread of tetanus is : 1

(A) Food and water (B) Air
(C) Wound due to rusted nail (D) Mosquito bite
feTa & hama & weE §
(A) I T @ (B) =1
(C) S a7t shied | =Tel ST (D) H=sX gNI w1l
8.  This is not an example of a human resource : 1
(A) Money (B) Knowledge (C) Time (D) Skills
g W HIEF 1 e T ¢ :
(8) e (B) (€ v (D) FRe

9.  Which nutrient is called the body building food ? Give two examples of good food 2
sources of that nutrient.

T HIH YIeh-dcd 8 Toreent 1 IR o1 Fior e €2 39 <1 o= W Hid fod |

10. What are staple fibres ? Give two examples of such fibres. )

WIS T T € 7 Tk Q& [ |

11. Define family income. 2
RGeS <l TR i |

12. List any four functions of a family. >
Toh IR o =R % ford |

13. Give two arguments to convince your friend that Home Science should be studied by 2

both boys and girls.
T HIOT THT 3T S <l HETE T ST oTefehal o eiehi ol T fom gea =feu |

AT RRATTADAWVAWAW ¢ conta...

a1

52/AS/4-216-A |



14. Explain the term ‘Food exchange” with the help of an example. 2
SeTEl Hied * HisH wiaeene (fafma) ' =t 31 T |

15. What is pasteurisation of milk and why is it beneficial ? 2

T o eI § T AU 7 SHeRT A1 S |

16. Mention two ways by which food can get contaminated. 2

g G Tk ford FSeh Hror YiiS Tfia &1 Tehar |

17. Write one advantage and one disadvantage of wearing clothes made of synthetic fibres. 2

fHdfesn (FHM) o9 95 H1 T 9 9 TH T e |

18. “To save energy while doing different activities one should cut all extra movements 2
and combine activities”. Explain the statement with the help of an example.

"o T R THE, SIS Blhd Y i qYT TAAEEl ol TAIST i 9 el o)
B 3T YT ] SSEI0 hl FEFdl 9 THES |

19. Give two benefits of breast feeding a new-born baby. ’
TForiTd fTe] 1 T U I F < A AR |
20. Rakesh is an autorickshaw driver. He often overcharges the commuters and disobeys 2

traffic rules. Comment on his work ethics.

ThY Teh SRR et | 98 TR HiX 9§ 1fess Ui od € iR Sfee & el =1 off
dred €1 & 9fq 39! Afaehar W feoquft =8|

21. Sweety is a teenager who likes to remain alone and gets angry if her parents try to 2
impose any restrictions. How can her parents improve their relationship with her ?

I T fRe S Tehieh! @1 THe il § TR 9rar-far gru sifer e S W A0S et © 1
SHF TraT-fadr 3T i % |1 Hele Tl HYR HH I Thd © 2

AT RRATTADAWVAWAW ¢ conta...
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22. Name four factors that affect the growth of a foetus. 2
YUl & foehre 1 guifeld ST aTel =R e odEd |

23. How can a positive attitude help you to cope with day to day difficult situations ? 2

3TTYHT YhRIHSF SV fohl YR T FHicd IS 1 WHAT HH H TE&F 8 Tohll © 2

24. Give any three characteristics of the contracting stage of the family life cycle. 3

IRER Sae =k % GFa W) Ht di fagand forg |

25. What are the three benefits of drinking adequate water everyday ? 3

yfafe gaia aen § o1 1 Fad & o diF oy fad |

26. List any three characteristics of a good budget. 3
T 319 a9 &I 4 foRmarg ferd |
27. How is the technique of batik used colour fabric ? 3

FHUS W SEH I TME 1 qeheiieh bl [hT FhR FAT foharn e & 2

28. If fire breaks out in your room what will be your plan of action ? 3

3TR 379k AL H 3TN &1 ST A1 379 qRd 1 T ?

29. What is the medium of spread of Tetanus ? Give any three symptoms. 4

feeTg U & ot &1 Areaw fod 9 SEen i @aqr ot <)

30. Mention any four advantages of Textile finishes. 4
o5 fEeSTet o =R o ford |

31. Suggest any four ways you will adopt to make a one room house appear spacious and 4
comfortable.

Teh L o Heh[A ol FB 2l o A @ < o fIu 319 ford = qliehl =l STa1si |

AT RRATTADAWVAWAW ¢ conta...
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32.

33.

34.

35.

36.

52/AS/4-216-A |

What is a “time plan’ ? Make a time plan you followed on a daily basis while preparing
for your tenth class exams.

" ST 39 A T B 2 ST el hal bt THeT shi ARt S & fore we i) fed
I IS TR Y|

How can a pregnant woman take care of herself ?

Teferee § Afgel AT S@-9Ie S w2

In what four ways can a shopkeeper cheat a consumer by using defective weights and
measures ?

Ul ST qT |G R FANT X Teh GehaR fohd TR qienl | SuHle 9§ raies! o Fehdl
272

List the steps you will follow to preserve fenugreek (methi) at home by the dehydration
method.

TrSiettertor =t fafy grT )R W Aol =1 T T &1 9fhan & =101 fafau)

Mention any four ways in which common people can contribute in controlling air
pollution in their city.

FIE ¥R UM foad {97k gR1 31 &l 31oM Ik | 9y o skt =it vt wepd €1
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This Question Paper consists of 30 questions and 7 printed pages.
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PSYCHOLOGY

( TifaRTT )

(222)
Time : 3 Hours | [ Maximum Marks : 100
9 : 3 T ] [ quifer : 100
Note :
(1)  All questions are compulsory.
(2) Marks for each question is indicated against it.
(38) Questions 1-6 are very short answer questions. Answer these questions as required.
(4) Questions 7-12 are short answer questions type I. Answer to these questions should
not exceed 25 words each.
() Questions 13-25 are short answer questions type II. Answer of these questions should
not exceed 80 words each.
(6) Questions 26-30 are long answer questions. Answer to these questions should not exceed
150 words each.
ﬁé’?‘l‘ :

(6)

[t e Stfrard €
YA Y o ik 39k 9 feu e )
I AT 1-6 3 T ST T € | ThT I STAvThdl STTIR ST |

T HEA 7-12 Y S0 Y TR 1 €1 3 TS Rl S (WAF) 25 Wl § Afern T a
ElRy

T HEAT 13-25 Y S0 Y TR 11 ¥ | 37 TE R SR (TAF) 80 Wl F 31ferk TE e
=AM

9 G 26-30 <18 AT Y9 © | 39 1 o1 ST (Ydeh) 150 Isal § Afereh a1 8 =nfen |
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1.  Which basic Psychological process out of the following is involved when one used 1
stored knowledge to solve various tasks ?

(A) Memory (B) Thinking (C) Perception (D) Attention
11 9 @ 1 it T SR Uik o Siaid g gr fhw T¢I o6 fafv= aeenei
% MM H T A 2

(A) = (B) o (C) TR (D) S1EHmH
2. The process of forming opinions, arriving at conclusions and making critical evaluation 1
is :
(A) Judgement (B) Decision making
(C) Problem solving (D) Creative thinking

T 5 i sk, Fored frepd = ug=m o faw axge, sewsti ok &l % IR 8 el s
Tedich e T €, ol had ©

(A) o= e (B) ol o
(C) HHE HHIHM (D) geHrcAeh fed

3.  When an individual shows a period of rapid growth in height and weight, it is an 1
indication of :

(A) Early Childhood (B) Early Adulthood
(C) Adolescent Stage (D) Adulthood
el h1E AT ofeg 3R IR § g ifgfg aoiar e Al T g ©
(A) URFH ST (B) gan U
(C)  forumrereen (D) e
4.  Give names of two types of communications. 1
TYY & § YRl o Y fafEn |
5. Give any two characteristics of happy people. 1

JEATEA AN o hig al AL ohl Ieeid hiToTd |

6. Give any two examples of institutes, offering programmes through correspondence 1
mode.

AR fa4™ §R1 UISashA T i alcl FeA13l o his ol a0l Sifeld |

AT RRATADULARERWAN ¢ conta..
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7.  What is the focus area of application in Health Psychology ? 2
TR WA o STEdA & H o wiferd © 2

8.  What is Perceptual Constancy ? 2
wae feeran fordt e €2

9.  Explain interference theory of forgetting. 2
fogfa & Teas & fagia =t =amen wifs |

10. What is meant by Vocational Role ? 2
eI o | 1 qed § 2

11. Explain the nature of relationship with workers in Authoritarian Leadership Style. 2

A Agcd el H HH=IEl F Hee wt Yhia S A Hif |

12. Name the ‘Steady’ states of mind according to Patanjali. 2
Aol o STTER T hi 3T9afhd ‘feer’ stereenaii o wm fafaw

13. Explain the experimentation method used to understand Psychological Processes. 4

TR Fishanedl sl THe & fau e § ae SiH arett w9 fafy =) = men sifsa |

14. Describe Projective Techniques as used for Personality assessments. 4

Ffei ediohd o ot 3TN § &6 ST ATl Ja&Tq0T qehrieh ohl U1 RIS |

15. What is the situational Measures of Personality ? Explain. 4
SAfaa % ARfEfas=1 A =0 €2 =ren i |

16. What is Skill Learning ? Explain with an example. 4

hITTEAl hT HIEHT 1§ 7 SSTEL0T TRl ST hifSTT |

AT RRATADULARERWAN ¢ conta..
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17. Differentiate between Growth and Maturation. 4

gfg iR uRyeadr & Aed R T Hifer |

18. How does language development proceeds during Middle Childhood ? Explain. 4

He STedehlel | e o fohe Jehr 8Id1 § 7 SIreA shifeia |

19. What is social loafing and social facilitation ? Explain. 4

TSI TTHAT T IS SU&T 911 § 7 ST hiferd |

20. How are attitudes formed ? Describe. 4

Aty o faior ford YepR Bra1 €7 0 St

21. What is self actualization ? Explain it with examples. 4

AT FLNTHTOT 1 § 2 ITEL0T Fied AT hifslu |

22. How can stressors be categorised ? Describe it. 4

AW

T o HIhI ol fohT YRR afiehd fohall ST Gehdl & 7 AU hifad |

23.  What is the relation between Interest and Aptitude ? Explain. 4
T qen sifugfa § @1 deiy €2 =amen wifvw

24. Explain the technique and benefits of any two Yoga asanas. 4

forgl €1 anT-smeel =t fafy qen ey =t =amen wifsu )

25. Whatis Preksha Dhyana ? How does one achieve total relaxation through this ? Explain. 4

TeTl &4 R T 2 THh R IS YU1 TR &4 fhe YhR T il § 7 AT Hifw |

26. Explain the concept of motivation and describe the Hierarchy of needs. 6

(aWa

SITYYROT T Hehe T 1 hi AT HITST AT SHTEATAHATST oh ISIIehH I J0H HIfST |

AT RRATADULARERWAN ¢ conta..
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27.

28.

29.

30.

52/AS/4-222-A ]

What changes do take place during adulthood and old age ? Explain them.
Tigrereen T JSTaee & SR B JTel Iied ShiF § € ? STt AT Shifar |

What are the causes and consequences of poverty ? Describe them.

TRYSl o 1 RO a1 YROMH § 2 39T 909 ShifSu |

What are the indicators of poor mental health ? Discuss.

FHASIR HHG T & FI1 Yok ¢ 2 <=1 Hiteig |

Define pollution and explain its types.
T3uUl ki giwren ST qen g5 fafy= geri o6t =Aren S|

-00o0-

N



This Question Paper consists of 30 questions and 7 printed pages.

THUA-TA H 30 EA a2 7 HiGd U= € |

Roll N.o. COi;:;: 52/ AS/4

3JchAlh

INDIAN CULTURE AND HERITAGE Set| A
( VTS Hehta 3T fovrae )
(223)

Day and Date of Examination

el &t fo 9 foian

Signature of Invigilators 1.
Frerent o gEaTer

General Instructions :
1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

3.  For the objective type of questions, you have to choose any one of the four alternatives given
in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book
given to you.

4.  All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

5.  Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

6.  Write your Question Paper code No. 52/ AS/4-A on the Answer-Book.
(@) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.

IEAEWARIDAAMAIT ¢ conta..

—

52/AS/4-223-A]



W TSI

1.

2.

52/AS/4-223-A]

Themelt Je9 & R %8 W STIAT SThHih STy g |

FUIT IS I W o R G F P Yot a° T i SaHl & He § A gud I % ged
TR DU T 139 91w S o I oA 6 7 wiAw w9 A €

ST Uel § SRl IR faswed (A), (B), (C) @M (D) ¥ | @i Wah SW g1 € 9 &f T8
SR ¥ 319 92 S| fafau |

TS T & WY-Tg Tt Ul o W HiRa Tafy Fa & < T | awgs ueHl o fore etem
Y Try el fean s |

IW-qfedert H qgaH-fag oM s ffde wrl & sifaftea w2l ot srgshdier foem o adaneff
%1 ST S S |

ST IT-YRsh! W JeT9= &t hie den 52/ AS /4-A fog |

(F) !;ﬂﬂ?{ﬁﬁlﬁ%ﬁ/@?ﬁﬁ%l e o, =ife amma = ot < & S TRl Tk Ao H ST S Wehd
stirstt, &, <<, womeh, ovTen, affe, o, wee, I, RIST, Sfedl, TeRT, ik,
FU SR B fou Tu St H ford fop o1 fhm v 7 s form w@ €

(@) afe a9 &<t wd st o srfafted fordt o= v # S’ forad € O 999 6l 9o | 29 ol

A/ Tafai st R et sTTaeRt BRM |

IEAEWARIDAAMAIT ¢ conta..

N



INDIAN CULTURE AND HERITAGE

Time : 3 Hours |

g ; 3 5 ]

( VT Hehta 3T fovrae )
(223)

[ Maximum Marks : 100
[ Af¥ehad 3k : 100

Instructions :
(1)
(2)

Attempt All questions.

Question no. 1 to 8 are multiple choice questions. Answers to these question
should be given in answer book provided to you. No separate time is allotted for

attempting these questions.
Question no. 9 to 16 are to be answered in about 25 words.
Question no. 17 to 25 are to be answered in about 40 - 50 words.

Question no. 26 to 30 are to be answered in about 150 - 200 words.

[t T % W ST
¥ e 19 8 T axgTs U fod T T g IW ST S qien | fafed
TS TeE & ford otem @ gug R e e g

U9 T 9 W 16 T o Y9I o1 ITR AN 25 sl H ST |

YT G&A1 17 9 25 T o Y9I Rl A T 40 - 50 vsa) H foilad |

U9 H&AT 26 § 30 Ik % YT Sl ST NI 150 — 200 S1sai H foafe |

1.  Which one of the following was the title of Persian Governors ? 1
(A) Satrapa (B) Kshatrapa
(C) Kshatriya (D) Chhatrapati
71§ | = BRET Tl 1 UeA ot ?
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2. The epic Mahabharata was written by which one of the following saints ? 1

(A) Valmiki (B) Vedvyas
(C) Vashishtha (D) Vishvamitra
=1 1 @ fohm |1 R HeTehTed WeTvRd erd 19 7 ?
(A) areHifes (B) 9% =M
(C) dferss (D) fowenfo=
3.  Which one of the following text deals with grammar and poetry ? 1
(A) Silappadikakaram (B) Manimeklai
(C) Ettuttokoi (D) Tolkkappium
7 4 & 2 W v i aun e 9§ e 82
(A) TaeroAesT (B) wfTeRet
(C) TgrhiE (D) dicaenRTiaad
4.  Which one of the following sages propounded the Sankhya philosophy ? 1
(A) Kapila (B) Patanjali (€©) Gautama (D) Kanad
=1 | 9 for =1 1 Wied <94 1 iqare foman on?
(A) T (B) TSI (€) A (D) =R
5.  Rehnumai Maz’'dayasan Sabha belonged to which of the following religious group of 1
India ?
(A) Hindu (B) Ahmadia (C) Sikhs (D) Parsi
@A A 9 9Rd & 1= | @ for anfies e @ Heiy werdt €2
A f&g (B) ereHfea ©) fum (D)
6.  Which one of the following emperors had nine gems (navratan) in his court ? 1
(A) Alauddin Khalji (B) Muhammad Tughlaq
(C) Akbar the Great (D) Feroz Tughlak
1§ 9 %1 9 95 % TER H Ta 97
(A) IAREH Getsi (B) HeHg TeTsh
(C) 3Rl HEH (D) T qeh
7. Which of the following tribes does not belong to the Southern Tribal zone of India ? 1
(A) Toda (B) Koya (C) Chenchu (D) Jaunsari
71§ | o I R SISt SfoT S &9 i § 2
(A) =T (B) hrm € =g (D) SR
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8.  Dowry Prohibition Act was passed by the Government of India in which of the following 1
year ?

=1 4 9 forg o # 9Ra R A To wfasy afufraw wika foram en?
(A) 1951 (B) 1961 (C) 1971 (D) 1981

9. Define the term material culture.

iferar et @1 R i

10. Name any two Mahajanapadas of ancient India.

A 9RA & =i &1 HersHIel o a9 fafau |

11. How is Yajurveda important for performing Yajnas ? Write two ways.

T 1 H 7 ASEG FI FEYYl § 2 QA TRR I |

12. Give two reasons for why Sangam literature is considered as our important literacy 2
legacy.

T Wi Sl TARI Ueh Haeaqul |ifeicaeh foRmEd =il T Sl 8, $6h ol SRl Jared ?

13. Define Mimansa school of philosophy. 2
wHiwtan ¥ it aftsmn fafed |

14. Why were the Karkhanas important during the Medieval period ? Give two reasons. 2

AR H HR@H F Heoqul & 7 T HNT gy |

15. Name two earliest educational institutions opened by the British in India to educate 2
the natives.

O o1 3187 7 & fow vra & U=l 510 @il T €1 eTRftyes Nfares deei & 7 fafad

16. Describe briefly the Right to Education Act. 2
Tem o1 AfeRR AfufTm o1 GfeTa o Sifs |

17. Describe the teachings of Zoroaster or Zarathushtra of Persia. 4

YT o SRR A1 SR i feisti o1 9o Hifsd |
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18.

19.

20.

21.

22.

23.

24.

25.

52/AS/4-223-A]

Give reasons for why European countries made unprecedented progress after 1450 ?

1450 ° 91E AT < H g5 AT T ok HRT sy |

Explain the views of Raja Ram Mohan Roy on different social evils prevalent in India
during the 19t century.

S TR o YRA H gEfad fafa= | Hdfaal 9= T T Higd 39 & fa=a &6t
AT IS |

Examine the main characteristics features of the Vedas.

I &% T i aAeIuil 1 qreyor Sifsd |

Explain the main characteristics features of Charvaka philosophy.

Tk S o & ATRAh T8I0 hl SATEAT it |

How did the Sufis help the people who came to them ? Write four ways.

3O U ST It AT Rt Yl G fRE YR wEr foha id 97 9N Yo fafed |

Why are paintings considered as an important source of information of the time or
context in which they are made ? Give reasons.

ferll o1, 1 Tt qen W& # 9 59 € i SMehRI U i ol Heaqul ©Id il WHT STl € 2

HIOT I |

Examine the impact of western education on India.

URA I giy=rd) f31eq & 99me hT 9RIeT01 Shifstd |

Explain India’s relations with Cambodia in ancient period.

YT e H A hl hF[SAT o 1 el ohl SARSAT ShifSIu |

=)}
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26.

27.

28.

29.

30.
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Examine the general characteristics of culture.

HER{A ok FHEFT AN T TUE0 hiTo |

Give an account of the growth and development of painting in Medieval India.

HehTel™ Rd § fesehan &t gig iR fowm &1 <R fafed |

How was the knowledge of chemistry applied in different fields in Medieval India ?
Explain.

HeFehTeld 9d § W@ fag@ & 30 1 69 yoer fafy= &= 9 gam foen simar an?
SRSAT hifS |

Explain the condition of women in India during different periods of history.

sfqer@ & fafy= w1ell § vRa o fo=il &t <9 &) =3 Sifsd |

Examine the relations of India with Japan in the ancient period.

YT Rl H A h SITAE o 912 Geiel ohl &0 hifsid |
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This Question Paper consists of 25 questions and 11 printed pages.
T IYA-T9 § 25 UF qT 11 qfgd U ¢ |

Roll N.O' Co:s;;: 52/ S/A

ACCOUNTANCY Set| A
(FEiHRT)
(224)

Day and Date of Examination

uiterr @t fo 9 foian

Signature of Invigilators 1.

Frerent o gEaTer

General Instructions :

1.
2.

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given
in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book
given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 52/S/A-A on the Answer-Book.

(@) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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W TSI

1.

2.

Themefl J9TA % 9Rel IS W STUAT ST 31w ford |

FUIT G I W o R G F o Yot a° T i SaHl & W § A gud I % ged
TR U T 139 o1 H A o I oA o 7 wiAw w9 A €

ST Uel § SRl IR faswed (A), (B), (C) @M (D) H | @i Wah SW g1 € 9 & T8
SR ¥ 319 92 S| fafau |

TS T 6 WY-Tg Tl gl o I HifRa otafy Ffa & < T | I ueHl o fore etem
Y wry el fean s |

IW-qfedert H qgaH-fag oA e ffde wrl & sifaftea w21 ot srgshdie fomem o adaneff

Tl AT ST S |

SO IT-GfEdehT T w9 i e dew 52/S/ A-A ford |

(F) !;ﬂﬂ?{ﬁﬁlﬁ%ﬁ/@?ﬁﬁ%l TRe o, =ife e =e ot < & S forefl Tk 9o H ST S Wehd
stirstt, &<, <<, womeh, ovTen, affe, o, wee, I, WRIST, Sfedn, TeRT, hishun,
FU SR B fou Tu St B ford for o1 fhm v # s form w@ €

(@) afe a9 &<t wd st o srfafted fordt o= wron # SR forad € O 999 6l 9o | 29 ol

Al /et st R sheret STTaeRt BRM |
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ACCOUNTANCY
( AEieh )

(224)
Time : 3 Hours | [ Maximum Marks : 100
9 : 3 T ] [ guifer : 100
Note : (i)  All questions are compulsory.

(i) Marks allotted for each question are indicated against it.

fder: () Wl v erfemE €
(i) TH U H 3k IHP WA < T

1.  According to which assumption, a business and its owners are treated as two separate 1
entities ?
(A) Money measurement (B) Going concern
(C) Business entity (D) Dual aspect

fRE STAYRTN & STER, I8 THT ST ¢ foh ™ a1 35! T Joh § 2

(A) HaTHM (B) HAq HHH
(C) HIEHE 3HlE (D) fguaftar sraemon
2. The journal entry which affects more than two accounts is called : 1
(A) Simple journal entry (B) Contra entry
(C) Compound journal entry (D) None of these
T Y e Tl g A At IS Jiafe & Fed €
(A)  HTER SHM=T Yfafe (B) fawia ufafe
(C) g A= gfafe (D) S § | S &
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3.  Which of the following account does not show a debit balance ? 1

(A) Wages A/c (B) Carriage outward A/c
(C) Carriage inward A/c (D) Return outward A/c
frafafea § & -9 T AW 99 TE <M ?
(A) T (B) T el T
(C) 3T wTel Wl (D) a9t Afeats @
4.  Capital reserves can be utilised for : 1
(A) Issue of bonus shares (B) Writing off goodwill

(C) Writing off preliminary expenses (D) All of these

et & @ fopaen faw OSTt d==r o1 ST foman T wekan © 2

(A) drFY Ei  FE (B) A 1 HATTEH
(C) YRy =&l 1 STderEA (D) ST |t
5.  Trading and Profit and Loss Account is also known as : 1
(A) Income statement (B) Account statement
(C) Position statement (D) None of these

MR Te ATI-BI Qa1 39 98 9 Y 7 S €

(A) o faao (B) e faaron
(C) Teufq fererom (D) 39U H 9 hig TRl
6.  The short-cut key F2 is used for : 1
(A) Select and shut company (B) Features
(€) Configure (D) Date and period

TTE - Te Tt F2 fohwreh T wgea =t it § 2
(A) O = AR A A o faw  (B)  fommansdi % faw
(C) Sired/&FFR & fag (D) fafy iR srafy & faw

52/S/A-224-A] 3 IIHEIRARTMIRITAND © conta..



7.  State the meaning and significance of convention of consistency. 3

HHSTTETA! i IRUET &1 37 T Hee Jamsy |

8.  State any three causes of disagreement in Cash Book and Pass Book balance. 3

Uehe I o UM ek ok Wl ok 7 oM o hIE i HROT AT |

9.  What is meant by ledger ? Draw a format of ledger. 3

a1 58 T U €2 @l 9e] Sl YeY Sy |

10. Classify the following liabilities as internal liabilities and external liabilities : 3
(a) Capital
(b) Creditors
(c) Bank overdraft
(d) Outstanding expenses
(e) Bills payable
(f)  Profits of business

frfafed 1 etialer Saael adn sy <Farsti § aifiha hifeg

(a) IS

(b) TR

) d& erfufaewd
(d) o°" o™

(e) <Ffau=

(f) =™ % A

52/S/A-224-A] 5 IIHEIRARTMIRITAND © conta..



11. Write important steps to open tally. 3

ol PE L & fau Aeerqul =7 fafaw |

12. Enter the following transactions in purchase book of Chandan Cycles, Cuttack for the 4
month of Jan, 2015.

January 05 Purchased on credit from Saha Brothers, Kanpur 130 cycle rims
@ X 100 each less 20% trade discount, packing and handling charges
T 600.

January 18 Purchased on credit from Hindustan Cycle Mart, Chennai - 100 tyres

@ X 60 and 200 tubes @ X 40 less 10% trade discount, freight I 400.

January 25 Purchased 160 dozen of cycles spoke @ X 30 each dozen from Sharma
Cycles, Kolkata at 20% trade discount.

AW

SHaRl 2015 T8 ¥ e HIghed, Theeh i shd oel § MHATAREd el s gfas Fife

S 05 el oIgH, AT H % 100 9fd 1 ST H 130 wEfha i U &l, =
20% =R =gt U wd Efe =13 T 600.

SRELNE] fege AEfhd A, =8 W T 60 ol X H 100 TRR A T 40 H X H
200 & G, =2 10% AR §gl, 918l T 400.

SHEd 25 I Arsfehed, ietehrl 9 T 30 9fd o ot g€ 9 160 T4 drEfehel T
WIS qAT 20% AR o271 et |
13. Write any four objectives of preparing Trial Balance. 4
IS S < “h1g ¥R Sevd ferfE |
14. Explain ‘going concern concept’ and ‘business entity concept’ of accounting. State 5

their significance also (giving two points each).

TR hl ' HAq HOHE STEURUN’ G  AHE $hls STAHRON’ Sl ATEAT hiTT | T&H
T forg T TU SR Hed ot FART |

52/S/A-224-A] 6 IIHEIRARTMIRITAND © conta..



15.

16.

17.

18.

19.

52/S/A-224-A] 7 IIHEIRARTMIRITAND © conta..

Define the following terms :
(a) Debtor (b) Creditor (c) Asset (d) Capital (e) Profit
71 =1 TR =i :

(a) TR (b) TSR (c) wufd d) st (e) oy

Classify the accounts under Modern approach and state the rules of debit and credit.

3Tk AFTeR0T oh SR TR WAl 1 SRV ShiTSIT qT 919 T& ST o a0 sy |

State the meaning of general reserve and capital reserve. Distinguish between general
reserve and capital reserve giving any three points.

T GO TS Ut S 6l o1 Saru) i 9 fag S7 gU Hee He we Ust e |
Fade s |

Why does the need for computerised accounting arise ? Differentiate between Manual
accounting and Computerised accounting. (on any three points)

FHFHRRd TTiehd hi TRl I gs 2 foheal a1 forg3ll & SMUR W TS i@l To
FHTRERhd W@ H A4S HIfIT |

Distinguish between Book-Keeping and Accounting. (Any four)

o=l =R SMYRT W Jaeh-9TeH Ud oi@ishd | sfasg smiferg |



20.

21.

52/S/A-224-A ] 8

Prepare a petty cash book from the following particulars for the month of March,

2015.

March 01 - Received from main cashier an imprest sum I 500
March 03 - Paid for cartage I 25

March 07 - Printing expenses I 17

March 11 - Paid wages I 25

March 20 - Spent for charity I 18

March 24 - Postal charges X 10

March 31 - Office cleaning expenses I 21

Frfafed foem @ A" 2015 97 &g @Y e &1 o6Y
T 01 - §&A ke | T 500 316 ufn g

T 03 - el YT T 25

AT 07 - B9 A9 T 17

A 11 - J5Igd 9T % 25

A= 20 - T fea 218

T 24 - T 949 T 10

T 31 - SHEEE TRE T T 21

Journalise the following transactions for the month of January 2015.

January 2 - Business started with cash of I 50,000

January 4 - Goods purchased from Ram < 15,600

January 7 - Goods returned by Tanuj I 12,000

January 12 - Goods returned to Ram < 600

January 18 - Rent due to landlord I 4000

January 23 - Commission due from Alpha Company < 2,600

SHE 2015 A8 & fAfafEd eFel sl AsHEiad shifeig :
SHad 2 - T 50,000 e § FaE™ IRY TR

SHad 4 - U9 | A @l 215,600

Sl 7 - IS A A @rer 12,000

SERT 12 - M 7 @l 3 600

SHEdt 18 - ! w1 foREn <7 % 4000

SOl 23 - 3TEWHI Shul | HHYE <3 T 2,600

6
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22. Journalise the following transactions and prepare Creditors A/c to find the net amount 6
payable to them.

2015 March 07

Opening balance of creditors I 18,000

2015 March 14 - Credit Purchases ¥ 12,000
2015 March 18 - Cash Paid to creditors ¥ 9,800 ; discount allowed by them < 200
2015 March 24 - Creditors have been paid by cheque I 5,000

9 TeHl ol USTHMATEA SHITSTT T THSRI bl <3 TR F1d A 8 THGR @’ 96T

201599 07 - RN o1 URF9eR 99 % 18,000

2015 94 14 - YR %I T 12,000

20150 18 - TFQRI ol ke YA T 9,800; 3T gNI &f T8 B T 200
2015 ATE 24 - TSRl &I =@ R YAE 5,000

23. On April 1, 2008, a company purchases machinery worth ¥ 2,00,000. On October 01, 6
2009, it purchased additional machinery worth I 20,000 and spends X 4,000 on its
erection. The accounts are closed each year on March 31. Assuming the annual
depreciation to be 10%. Show machinery account for 3 years under diminishing balance
method.

1 3T 2008 T T AT A T 2,00,000 Tt TG TG | 1 THRER 2009 T 38 T 20,000
i rfafia A= T, T 4,000 396 Fofor W @ fhu | g ad 31 7 @l @ dg R
A E 1 10% aifties 19 T g ifdd 99 fafy o siafa 3 9 o1 weiR @ gwiEy

24. Explain Balance Sheet. State objectives of preparing Balance Sheet. 6

-1 hl SRAT FHITC | FeII-T7 I & 3239 30 |

52/S/A-224-A] 9 IIHEIRARTMIRITAND © conta..



25. From the following Trial Balance, prepare Trading and Profit & Loss A/c for the year 10
ending 315t March 2015 and Balance Sheet as at that date.

Trial Balance
Debit Balances Am;)unt Credit Balances Am;)unt

Opening Stock 2,500|Sales 28,700
Purchases 20,000|Discount 1,000
Cash 1,700|Bills payable 2,500
Building 18,000|Creditors 6,000
Wages 1,500|Rent 1,200
Salaries 2,300 {Commission 900
Bill Receivable 3,000|Capital 20,000
Debtors 5,100
Carriage 950
General Expenses 2,700
Rent and Taxes 2,550

60,300 60,300

Adjustments :

(a) Closing Stock X 3,400

(b) Wages Outstanding I 600

(c) Prepaid Rent X 150

(d) Depreciation on Building @ 10%

OR

(a) Distinguish between Trading Account and Profit & Loss Account

(b) Pass the necessary Journal entries for following adjustments.

(i) Closing stock I 20,000

(i) Carriage inward outstanding I 500

(iii) Insurance prepaid I 1,000

(iv) Depreciation on machinery @ 10% p.a. machinery < 40,000

52/S/A-224-A ]
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71 deT9e § 31 A4 2015 ! FHIW B 91l 9 3q SR TS eH-21 @rar qen 349t fafy =1

JoH-93 TIR HIfSIT

qAIe
BIENL] N T I z

IRTyeR e 2,500 |fasra 28,700
ExI 20,000/s7gT 1,000
IFhs 1,700 27 faq= 2,500
NCE| 18,000 [eeR 6,000
gt 1,500 |fsrma 1,200
LR 2,300 [T 900
e st 3,000 it 20,000
TR 5,100

T - T 950

W T 2,700

TR 9 2 2,550

60,300 60,300

Fl'qTé'ﬁ\_rHTQ* :

(a) AfqH i % 3,400

(b) 3rEd w600

(c) To<a fRumn T 150

(d) ¥ WIHF @ 10%

3terar

(a) ‘AR @’ qn Y- T’ § Sid Hifsa
(b) =1 SIS ¥ SAevEe AT gfafteat Hife
(i)  effam wefdan 20,000
(i) 3I<T WIEl $fdaE T 500
(iii) geed StET T 1,000
(iv) T 40,000 ! FITH W 10% F.9. il < & A

-000-

[
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This question paper consists of 17 questions and 5 printed pages.
Y- H 17 AT a5 qfeqa U8 € |

Roll N.o. COi;;;: 52/ AS/4

3{IchAlh

PAINTING (Theory) Set| A

femreRen (fag=a)
(225)

Day and Date of Examination

uiterr &t fo 9 foian

Signature of Invigilators 1.

Firerent o gTal

General Instructions :
1.  Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

3.  All the questions are to be answered within the allotted time.

4. Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

5.  Write your Question Paper code No. 52/ AS/4~-A on the Answer-Book.

6. (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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W TSI

1.

2.
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Themelt Je9 & TR %8 W ST SThHih Ty g |

FUIT G I W o R G F o Yot a° T i SaHl & W § A gud I % ged
TR U T 139 o1 H A o I oA o 7 wiAw w9 A €

[t g9l o I Ui stafy & i & <9 #)

I~ | Tgam-Tog oM stean fafde Tl & afaftea & ot stshmie forem R adtemeff
1 ST AT ST |

T ITR-YREdeh W 999 i hie dem 52/ AS/4-A fad |

(%) TR hadt f&dt/ st # g1 fR o, afs s =i df = < 2 fohelt Tk oo § ST € Wk
g
stirstt, &<, <<, Womeh, ovTen, affe, o™, wee, I, WXIST, Sfedn, TeRTd, hishun,
U SW-Yfert B fou e s B fod o6 oy g o 3w form @ ¥

(@) Ffe =19 &) we AUSH o stfafteaa fordt a1 wron § S ford § 1 999 61 99e@ # 2 ol
Ffeal/Tataal st S ke sTTdeRt BT |
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PAINTING (Theory)

femreRen (fag=a)
(225)

Time : 1%2 Hours | [ Maximum Marks : 30
g 11, 90 ] [ qurieh : 30

Note : (1) Attempt all questions.
(2) The question having 1 mark should be answered in about 10 words each.
(38) The question having 2 marks should be answered in about 30 words each.

(4) The question having 3 marks should be answered in about 50 words each.

fder: (1) |yl o S T
(2) 1 3 aTeT TS Y I IR AT 10 Teal | |
(3) 2 3 aTeT YH YA T IR I 30 Vsl H T |

(4) 3 3T aTCT T YA I IR A 50 Teal | T |

»
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1.  Mention the artistic qualities of “Dancing Girl” of Mohenjo Daro. 2

HiETSN-grel ot AN 1 HefcHeh T[T <A1 U I |

2. Define the characteristic features of the painting “Black princess”. 2

“ oTger TeTHERT! FersreRen @t foRiwarsti @l afRefa wifsa

3. Write a short note on “Sur Sundari” of Konark. 1

I QR G W e e ferfaa

4.  What do you know about the famous temple of Bishnupur ? 3

foreR & wfag af<k & s § 319 91 S © 2

5.  Write at least thirty words on “Phulkari”. 2

"ol T HH 9 R i vss fafa

6. Which folk art form has influenced the Kantha Motifs ? 1
e Aifaw 1 fore olies e § Yo foet § 2

7.  Explain the technical aspect of KOLAM floor painting. 1
3 -Tasehet SIcTH ohi dehf-ehl Y& St SANEAT hifIT |

8. Summarise the evolution of Renaissance in the field of art. 3
Al T & H HAGE Sl ShHATIRIE T TR KA IS |
OR/3teraT

How did rembrandt apply Baroque style of realism in his painting “Night Watch” ?
e A o fost e A H SR]ie (A gAne) Sieft Sl yged Y TR 2

9.  Why was Degas different from other impressionist Painters ? Explain with example. 2

M IR guTFarel ferenil 9 fir =il €7 I A g AR HIfST |

10. Appreciate the famous painting “Starry Night” of Van Gogh. 2
o T i JiEg o R e o wRiEenes fEuult shifey |
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11.

12.

13.

14.

15.

16.

17.

52/AS/4-225-A ]

Write at least thirty words on “Black Lines” of Kandinsky.
FHifSEht i foe *sereh SR WA & HH d19 v feafay |

Differentiate between abstract art and surrealism in art.

3T el a1 SAfqaeneferel el § 98 T SifSy |

Describe the painting “Man with Violin” and identify the Painter.
fesehR 1 Te=d gY fodt 19 fag amafem’” o1 aofa wifsm

Write an appreciative note on Amrita Shergil.

ST IRATA R Tk yerereres femoft fafam |

What is print making ? What do you know about “Whirlpool” ?
o= qg01 1 B 7 “Whirlpool” o o aIR # &8I0 4l € 2

Assess the role of K.C.S. Panikar in the development of contemporary art in South
India.

ST WA Sl AT el < oo | . €. w8, wiforeRt skt yfiert sl Hoarish i |

“In spite of his blindness, he created a huge mural at Kala Bhavan, Shantiniketan” -
Identify the artist and specify.

“ STTH ST o ATES[G SR WMATohd o Shall Had i R T fufafes s’ - wamR
%I TEEIT q foery &9 9 s |
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T ¢ STHCET 24T Seg T T AT |

Agiger fHeeger ¢

1.

HAIPHIIE 2RS0T 27T ToTo Tl Faw Seq [&RF AR | i Sex foTdiT 39 I 2 (O 206
C1Ie TRl Sfsfie o d3mees, o a2 & aifw |

2. IYAT (Multiple Choice) 24T TF@s AN Fg [Keviaasial 75 Tea g =T e
(A), (B), (C) ST (D) T fowaw RO SIf3F (30T 24T YIS il IFbe fe1fiq Al |
3. S9rHINE OING @GR (Flap) [AHE a6 @ @6t 92, I, <07 @%@ T fo1fig =i |
1. @od Fel Forlk Pes @ros! 53137 g F 237 1
(A) ©RFFSFa J |
(B) 37 ol UIeT A% Wifts Jrarfy A1fsa |
(C) T JA% Gleant 27 |
2. Q@fer 8 3T 1 @ 2w 7 1
3. SEANGN IR @I T67 FeeT 2 1
4. W I AT fF Nifer gfer it =7 1
5. SIOISE SNISH (@1F s 4 Of 966 sl il 1
(A) Theste @sieR fofes
(B) =S =Ifes fefss
(C) 49 @7 fofew
6. WWIF (GEE TF Fletq T 5 figst 2 1
7. RO (&F 596 FPPREOR SIE 7 1
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8. Wi N9 NISw® &3 B! Ay BIACOT 52 1

9. IR FITS FAI- 1
(A) BFE I
(B) AT SoifS i@
(C) fooer =3

Y
|

10. SfSFR I FF @RI W2 (08 @FFLF AT IE ARy GFIORT 71 ol IR ? 2

11. “‘T@old gf%Es PRss CTivRee [Hics’” ST (@I IS (et ? 2
12. TR I3 13 SIpfa 397 27 (7o T (@I o 163 TR I3 fee 2 3
13.  SPHRT G {2 @301 6 57 3
14. TS STy 6 157 3
15. YT fovar (A @it 9bt) - 4

() MRS TR (O
(i) TSI AR

16. TS 3% IKRITT K B (OpT b fovam | 5
17. ‘SR SShs 91331 (T 00T FROICR a1 ©i forat | 6
18. 20575 31esifs o1MR T (1T YUl 7457 <7 5x2=10
(A) I 40 5§ (OWE (Plefite i3
SRS S TS
g[ﬁmm@? ¢ (OWIE (FlTIE B3

Sga] *1F Sif&RTTo |

(B) “‘Wiq" AFCeI3 AWM oF® WIS, (0BTEFS [FAI#1SIE AMT 918!, (©SETFT
T3 N FE5° |

(C) NI @A TS, ST BT T I 7S 927 |

»

VAT TR ¢ conta...

52/S/A/A-228-A]



19. (oW SPLeTS @RT FOW IATT KNI THIZ I FFoI Fmcet 94q B o1t | 8

20. QDT %O ABHT FT 5x1=5
e T [, 39 6T 31 AR fsEre!, IoF 2fs gsres 717, srordE Pres 4at
G, R e ow 71T FEF K |

21. Ao =7 forat: 1x5=5
o, (sl AT, Ia, SR |

22. 13 641 91 (T @1 4 51F) - 4x2=8
ATy, AleTlA4 01]\}3\, AYY, (&Il A, \‘as(\lsl(.d N |

23. SR ST HF el : 1x5=5
I + HE5, TR + 777, 53 + sifis, SfwE, TXE |

24. O TR w41 (it gogiat) - 6x2=12
(A) QT8 I8 (@D 47T (28 |
(B) AR vy afsfaar g aomat |
(C) SCAT ©IeT3 ToIR Bl |

25. ©ol T @I Qb ] 8ol9e QA I54T forat | 10
Io1T FIFw, ISR, G SiAsT For |
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This Question Paper consists of 8 questions and 8 printed pages.

THUE-TA H §UYT T 8§ Hfgd U3 © |

Roll N.o. COi;;;: 52/ AS/4

3IchAlh

DATA ENTRY OPERATIONS Set| A
STET WSl U
(229)

Day and Date of Examination

el &t fo 9 foia

Signature of Invigilators 1.
Frerent o gEaTer

General Instructions :
1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

All the questions are to be answered within the allotted time.

4.  Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

5.  Write your Question Paper code No. 52/ AS/4-A on the Answer-Book.

6. (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit
and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours
only.

IRATRRRIDNTAMIII ¢ conta..

—

52/AS/4-229-A]



W ST

1.

2.

52/AS/4-229-A]

Themelt Je9 & TR %8 W STIAT SThHih Ty g |

FUIT IS I W o R T F P Yo a° T i SaHl & Hen § A gud I % ged
IR B T 139 91w S ot I oA T 7 wiEw w9 A €

[l g9l o I Ui stafy & Wi & <9 §)

I~ H Tgam-Tog oM stean fafde Tl & aAfaftea & ot stshmier forem R adtemeff
I ST AT S |

T IW-Yfedert W 99795 1 *ie d&a 52/ AS /4-A ford |

(%) UIA ot f&dt/ st # g1 fR o, afs o =i = < 2 fohelt Tk oo § ST T |k
g
stirstt, &, <<, womeh, oen, afte, oo, wee, I, NST, Sfedn, TeRT, hishun,
U IR-feqert B feu T afed § fored foh oy forg oo & s fow w® ¥

(@) Ffe o9 &) we AUSh o stfaftaa fordt o= wron § S ford § 1 999 61 99e@ # e ol
FAfedl /Tt st RS ke STTdent BT |
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DATA ENTRY OPERATIONS
STET WSl U
(229)

Time : 2 Hours | [ Maximum Marks : 40

I ;2 90 ] [ qurieh : 40

Instructions : (1) Attempt all questions.
(2) Marks are given against each question.

ot (1) | I o W T
(2) WAH U F 3k ITF G I T ¥

1.  Match the following and write your answer in the answer book : Y2x6=3

A B

(a) Antivirus (i) Operating System

(b) Pie (i) System Settings

() Windows XP (i) Input Device

(d) Control Panel (iv) Utility Software

(e) OCR (v) Views for Presentation

(f) Normal, Slidesorter (vi) A type of chart

frt Sie faeTsT @ik STR o7t S<R gfedent # fafa
A B

(a) UIETR™ () SR fawen

(b) UE (Pie) (i) fowew dfcw

(c) fa<=1 xpP (i) 3TYe feamed

d) e T (iv) Jfefadt AR

(e) SMHLIM (OCR) (v)  USIA & S

(f)y THd, TESH (vi) T R 1 91

IRATRRRIDNTAMIII ¢ conta..
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2. Write in your answer book True/False for the following statements : 1/2x6=3
a) By default, the text in Word documents is Right aligned.
b) Flat bed and Drum are two types of printers.

(

(

(c) File Management in windows can be done through taskbar.

(d) My documents displays a list of documents used by the current user.
(

e)  While preparing slides, you should use small phrases and sentences to convey
your messages.

(f)  While typing text in a word document, you are not required to press ENTER key
at the end of each line.

T Tl & fau o9t IW giaen # &=t/ 7Ter fafam :

(a) <Rl gR € H TR T3 TlE-S Bl ¢ |

(b) R I R TH A AT X & TR |

(c) oSS & wEd HrsHc whaR o GRI foRaT ST HehaT & |

(d) T SrRpHeH H e IoR R THAE T T Slagiiey #i fore fewt 2t ¥

(e) TIESH TR I THA STTeh] ST T < o foTT SIS AT TS AN T TAN HEAT

e |
(f) =€ SlRgHe H TR 2BY Hld T, AT Y B4 o 3id § ENTER I T
S TE el €|
3.  Define the following : 1x4=4

(a) Compiler
(b) Recycle Bin

(c) ALU
(d) Functions

T =t aftwmn fafa
(a) HEATETR

(b) TR fom

(0 TTA I (ALU)
(d) hewIE

IRATRRRIDNTAMIII ¢ conta..
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4.  Write short notes on the following : 2x4=8
(a) Font Size
(b) Laser Printer
() Windows Explorer
(d) Page Orientation

=1 W e feoolt (rew) fefam
(@) TRI WSS
(b) TSR Y
(c) ToeIS T
(d) s ST
5.  Differentiate between the following : 2x2=4

(@) Inserting Text and Selecting Text
(b)  Bulleted list and Numbered list

=1 7 iR we wifew .

(a) THRZ THE HLA 3R TR foeraR e

(b) Feree fawe iR FaE foe

6.  Answer the following questions : 2x5=10
(a) Write the steps to Rename a file or folder.
(b) What do you mean by Merge document ? Explain briefly.
(c)  Write the steps for Printing a Word document.

d) What are the various steps to insert a new worksheet before an existing worksheet ?

e) What are the various elements required to be considered while writing a formula.

=1 99l o S SifSe

(a) T TIEA A e ol T4H & o L fafan
(b) TSI SfRJHE T 9 37T AT THEd © 7 T hiTolC |
(c) T o€ SfRgHe ol fic & & = fafan |
(
(

d) T HINE gHIie H Tt 78 geheiie 3793 i o 7 W € 2 fafaw)
e) TH WiHal faad g ford o =il o1 & T@T =nfea ?

IRATRRRIDNTAMIII ¢ conta..
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7.  Answer the following :

2x2=4

(a) Write the keyboard shortcuts for doing following formatting actions on a text

document :
@ Undo
(i) Paste

(iii) Select all
(iv) Left justified

(b) A paragraph of text is written in Times New Roman and aligned as center justified.
Write the steps to make the text as Right justified.

(a) Teh ToRe SfRgHe W 7 ®HfeT Rl wl & & faw Fiere widhed fag :

ﬁmwwé}ﬁm:
@ g
(i) U=
(iii) TocrR sAfa

(iv) TR TLIEES
(b) éWW@ﬁWTimesNewRomanﬁEﬁmTW%ﬁTgﬁ@?WﬁﬂT
T 1 3 T TRIHES FH & fore wg fafem

8.  Answer the following :

2x2=4

(a) Following table shows sales data for different makes of mobiles from January to
March of a particular shop.

A B C D
« Types of Mobiles Sold —
1 Month
Samsung (Nos.) | Motorola (Nos.) | Sony (Nos.)
2 |January 800 600 500
3 |February 400 300 100
4 |March 500 400 150

Based on the above data write the formula to calculate the following :

(i)  The total sale of mobiles in the month of Feb.

ii) Total sale of Samsung mobiles from Jan to March.

(
(iii) Total sale of Motorola and Sony Mobiles in Jan and Feb.
(

iv) Average sale of mobiles in March.

52/AS/4-229-A]
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(b)  An agro products survey company finds following data about the percentage of
fat found in 5 different dairy products. Write the steps to plot a Pie Chart to
show this clearly.

A B
1 Item Percentage of Fat
2 | Milk (Full Cream) 15%
3 Curd 10%
4 Butter 25%
5 Cheese 20%
6 Cream 30%
1 &1 S/ aﬁ@ :

(a) T o # wk Y= g W S T 3T STl Yeh < HIsMEeH hl el | /T
Toh 1 Hed ST fo@mn T ©

A B | C | D
1 | « o T HEEE & JhR —
T | HRRen ESIci|
2 |SHad| 800 600 500
3 |wEd| 400 300 100
4 | g | 500 400 150

I ST o YR R 9 S o faw wigen fawl
() TE & HEM H HieEed & $d 9d |

(i) HHET TR H T W W qh H A A |

(i) STERT 3T WReRl | HIERen 3R HHt Hereed % 9 |

(iv) W H gt HeEed i TS 9a |

IRATRRRIDNTAMIII ¢ conta..
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(b) TH TN Wy T HFF T " STR1-3Te a0 Teded R fre mu wd # e =
Fiqer = aa o STER IR 36 TR 9 W UE 96 §N foam & fag 9 = @t

e A b g fafEy |
A B
1 AEeq e 1 yfav
2 | A HE Y 15%
3 =@ 10%
4 X 25%
5 == 20%
6 Eae 30%
-00o0-
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1. O YRl SR 3 B

2. WS YTIEE SAHYEH T8 W GRM |

3. U Hgea 1 sfE 11 99 =R fasheugsnsd Haifs Iugs ST ATl Sa-GRiehr

TR |

1. A9 SRR 9 v 1
(A) urelt i (B) T@iell sfa
(C) Tl ST hfer (D) et uftgd hfa

2. AR TR et TiEredt St e B9 1

(A) ST STIfden STaEeTers ferax (B) 3T TSI ST fewX
(C) STl TAThTohI STTEATCTS feTiX (D) FA U

3. ‘foereyufa’ sfodmen &fd T AFEHR 1
(A) hdsFeRl JEAR (B) ! YR
(C) HATR YR (D) STIfeh! G

4. ‘w3 fag WaTemE ' | wal yiiew @ ¢ 1
(A) TR (B) wmf=iehl (C) H&H! (D) AfEEmRI
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10.

11.

(D)

et T e

o HICTHT SIS HT LR HIHTeh] TYHT FTell =1 9T T ?

(A) 1965 1966

(B)
“Afier g S - S Tree o

(A) HEPT IR
(C) IH ¥sg

-1 h 3Thi 9 B :

(A) YdTE difetehl (B) SR dfetent

RIS SETeh! Tfegetl =0T & Bl ?

(A) STETIH e Bifsiey
(C) H&A B =TT

“Shie T shferdl’ =1 =hfdl B :
(A) TrHEyER

(C) Yoacded 39t

52/AS/4-231-A | 3

(B)
(D)

1967 1968

(©) (D)

TSUSH U

2

IS EIGEIRICH

EEAGINE et =

(©) (D)

e fauEehl A JH8]
1D G

REHT G4
JorHTeRIgT Bl
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12. frefafed wie emgds ug iU TeieEh] ST ey

SRR H<91 T eRviterant fohamehatTa SdTeTeR! O IAhals F99+ $U e | a8
T IeTR! YATS-THeREHT WA Tkl STSUS IMHe G 1941 3.1 37as Ufae~t S,
FHARAH Teh a8 T A TG | FH 9¢ 9 31 g9 AR T84 |

Shia eRufieRet ST SHiSdIgR Sl feig el SSeTe Tted WreHTeR Tid 7T | Tfted SR
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